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INDEFINITE INTEGRATION

ILLUSTRATION

1. Evaluate:


Watch Video Solution

∫ dx.
(1 + x)

2

√x

2. Evaluate


Watch Video Solution

∫ dx
2x+ 1 − 5x− 1

10x

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_l5JOuwidOG42
https://dl.doubtnut.com/l/_FBKlV9IUeYXT


3. Evaluate:


Watch Video Solution

∫sec2 x cos ec2xdx.

4. Evaluate .

Watch Video Solution

∫ dx
1 + cos x

1 − cos x

5. Evaluate .

Watch Video Solution

∫ dx
1

1 − sinx

6. Evaluate:


Watch Video Solution

∫tan− 1{√( )}
1 − cos x

1 + cos x

https://dl.doubtnut.com/l/_U3FIbvwVuPdZ
https://dl.doubtnut.com/l/_uUSyRGPMpSKY
https://dl.doubtnut.com/l/_vT7bdeqMlenJ
https://dl.doubtnut.com/l/_afNnRMyN6W7E


7. Evaluate:


Watch Video Solution

∫ dx.
secx

secx − tanx

8. Evaluate 

Watch Video Solution

∫ dx.
1 − x2

1 + x2

9. 

Watch Video Solution

∫cos3 x  dx =

10. Evaluate 

Watch Video Solution

∫( )dx
8x + 13

√4x + 7

https://dl.doubtnut.com/l/_naI3lst5P46m
https://dl.doubtnut.com/l/_CTeLvFWHpqcR
https://dl.doubtnut.com/l/_DaAkY0slaOXk
https://dl.doubtnut.com/l/_V8fz5cDUyBhl


11. Evaluate:


Watch Video Solution

∫ dx.
1

√3x + 4 + √3x + 1

12. Evaluate: 

Watch Video Solution

∫sin4 x dx

13. Evaluate .

Watch Video Solution

∫sinx sin 2xdx

14. Evaluate:


Watch Video Solution

∫
dx

(2x − 7)(x − 7)

15. find ∫
dx

1 + sinx

https://dl.doubtnut.com/l/_FGat4GR0nXyc
https://dl.doubtnut.com/l/_bdtehGtlNFvp
https://dl.doubtnut.com/l/_FhoGKpNQe4ah
https://dl.doubtnut.com/l/_f3F86WBREBkU
https://dl.doubtnut.com/l/_5jD8eAr5IWcr


Watch Video Solution

16. Evaluate the following: 

Watch Video Solution

∫ dx
1

1 + e− 2x

17. Evaluate the following : 

Watch Video Solution

∫(x − )
5 / 2

( )dx
1

x

x2 + 1

x2

18. Evaluate:


Watch Video Solution

∫ dx.
sin 2x

a2 sin2 x + b2 cos2 x

19. Evaluate ∫ dx
1

1 + cos x

https://dl.doubtnut.com/l/_5jD8eAr5IWcr
https://dl.doubtnut.com/l/_vGQYnovwgXJj
https://dl.doubtnut.com/l/_gruzbEsS85uu
https://dl.doubtnut.com/l/_eOpWPxeZCTkl
https://dl.doubtnut.com/l/_zshnwkb8ruJ4


Watch Video Solution

20. Evaluate:


Watch Video Solution

∫ dx
log(tan( ))x

2

sinx

21. Evaluate:


Watch Video Solution

∫sin2 xdx

22. Evaluate:


Watch Video Solution

∫secn x tanxdx

23. Evaluate 

Watch Video Solution

∫ dx.
loge(x − √x2 + 1)

√x2 + 1

https://dl.doubtnut.com/l/_zshnwkb8ruJ4
https://dl.doubtnut.com/l/_XQScaLJpbyAs
https://dl.doubtnut.com/l/_59hqIn10TfUJ
https://dl.doubtnut.com/l/_AFH9Cglfvd2I
https://dl.doubtnut.com/l/_n8HG5esfF4zk


24. Evaluate:


Watch Video Solution

∫ dx.
2x − √cos − 1 x

√1 − x2

25. Evaluate .

Watch Video Solution

∫(x6 + x4 + x2)√2x4 + 3x2 + 6dx

26. Evaluate .

Watch Video Solution

∫sin 2xd(cot x)

27. Evaluate:


Watch Video Solution

∫{1 + 2 tanx(tanx − secx)} dx
1
2

https://dl.doubtnut.com/l/_n8HG5esfF4zk
https://dl.doubtnut.com/l/_vBpoD9OacAil
https://dl.doubtnut.com/l/_eY3gKYj9667B
https://dl.doubtnut.com/l/_IpRPxjMIt4vB
https://dl.doubtnut.com/l/_FbyWNBd9KowV


28. Evaluate the following integration 

Watch Video Solution

∫tanx tan 2x tan 3xdx

29. Evaluate .

Watch Video Solution

∫tanx tan(x + 1)dx

30. Evaluate:


Watch Video Solution

∫ dx
1

√3 cos x + sinx

31. Evaluate: 

Watch Video Solution

∫  dx
1

cos(x − a)cos(x − b)

https://dl.doubtnut.com/l/_gqjDUD538TwE
https://dl.doubtnut.com/l/_b8ZG4M9sPoXF
https://dl.doubtnut.com/l/_lnhPMALzc1xQ
https://dl.doubtnut.com/l/_5VIibb9154wx


32. Evaluate .

Watch Video Solution

∫
dx

√1 − x2(1 + √1 − x2)

33. Evaluate:


Watch Video Solution

∫
dx

(a2 − x2)
3
2

34. Evaluate:


Watch Video Solution

∫ dx
1

x2 + 4x + 5

35. Evaluate 

Watch Video Solution

∫
dx

√x2 + 2x − 3

https://dl.doubtnut.com/l/_KvxFl1Diqmg5
https://dl.doubtnut.com/l/_QdykFcnTz2zW
https://dl.doubtnut.com/l/_Bhx79rNnqiWq
https://dl.doubtnut.com/l/_z6Xe9MACnd2Y


36. Evaluate:


Watch Video Solution

∫ √ dx
1

x

1 − √x

1 + √x

37. Evaluate:


Watch Video Solution

∫sin(ex)(ex)dx

38. Evaluate .

Watch Video Solution

∫cos3 x√sinxdx

39. Evaluate: 

Watch Video Solution

∫22x ⋅ 2xdx

https://dl.doubtnut.com/l/_FRFkUzq8yPtf
https://dl.doubtnut.com/l/_k9nHRWAlpAZY
https://dl.doubtnut.com/l/_974K7e1kECNU
https://dl.doubtnut.com/l/_bwzbcpnaG7V1


40. Evaluate:


Watch Video Solution

∫ dx
e√x sin(e√x)

√x

41. Find


Watch Video Solution

∫ dx
ex(1 + x)

sin2(xex)

42. .

Watch Video Solution

∫5x+ tan − 1 x ⋅ ( )dx
x2 + 2

x2 + 1

43. Evaluate:


Watch Video Solution

sin3 xdx

(cos4 x + 3 cos2 x + 1)tan− 1(secx + cos x)

https://dl.doubtnut.com/l/_ikfAyErNf2u7
https://dl.doubtnut.com/l/_RjM6JkaqoJyU
https://dl.doubtnut.com/l/_xilhM1jI1VOa
https://dl.doubtnut.com/l/_eG1rlBvG6FzL


44. Evaluate:
 .

Watch Video Solution

∫(( )
x

+ ( )
x

)lnx dx
e

x

x

e

45. Evaluate:


Watch Video Solution

∫
1

(√e5x((e2x + e− 2x)
3) )

1
4

46. Find .

Watch Video Solution

∫sin6 x cos xdx

47. Find .

Watch Video Solution

∫sin5 x cos3 xdx

https://dl.doubtnut.com/l/_GjE1x14YRWzd
https://dl.doubtnut.com/l/_kKK1q14oueLy
https://dl.doubtnut.com/l/_BP0mWJAtN3m5
https://dl.doubtnut.com/l/_q5OoGwWPt5ZS


48. Find .

Watch Video Solution

∫
dx

sinx cos3 x

49. Evaluate:


Watch Video Solution

∫
dx

x2(x6 + 1)
5
6

50. Evaluate .

Watch Video Solution

∫
dx

x2√1 + x2

51. Evaluate:
Evaluate:


Watch Video Solution

∫x− 11(1 + x4)
−

dx
1
2

https://dl.doubtnut.com/l/_K5iFrKNRrwYq
https://dl.doubtnut.com/l/_fcdwc0zozIEG
https://dl.doubtnut.com/l/_7pEo5wr5eYMo
https://dl.doubtnut.com/l/_KG5f4i0o8zSw


52. Evaluate:


Watch Video Solution

∫ dx
1

(1 − x4)
3
2

53. Evaluate:


Watch Video Solution

∫ dx
1

[(x − 1)3(x + 2)5]
1
4

54. Evaluate:


Watch Video Solution

∫ dx
1

x2 + x + 1

55. Evaluate:


Watch Video Solution

∫ dx
1

x2 + 6x + 5

https://dl.doubtnut.com/l/_JfzBB1IteQG2
https://dl.doubtnut.com/l/_czp31cdWbFS8
https://dl.doubtnut.com/l/_QFNZOwssg8Dp
https://dl.doubtnut.com/l/_y5Ps49dqQpQo


56. Evaluate:


Watch Video Solution

∫ dx
cos x

sin(x − )sin(x + )π

6
π

6

57. Evaluate:


Watch Video Solution

∫ dx
x

x4 + 2x2 + 3

58. Evaluate:


Watch Video Solution

∫ dx
2x + 1

x4 + 2x3 + x2 − 1

59. Evaluate 

Watch Video Solution

∫ .
dx

(1 + x2)√1 − x2

https://dl.doubtnut.com/l/_ORDy5hDXqeW7
https://dl.doubtnut.com/l/_g4hRQjJ1cYsa
https://dl.doubtnut.com/l/_YkHd5p2PIKQC
https://dl.doubtnut.com/l/_iHOVHVd3sBUC


60. Evaluate: 

Watch Video Solution

∫  dx
3x + 4

x2 + 2x + 2

61. Evaluate:


Watch Video Solution

∫ dx
x2 − 1

x4 − 1

62. Evaluate: 

Watch Video Solution

∫  dx
x2 − 1

x4 + x2 + 1

63. Evaluate:


Watch Video Solution

∫ dx
x2 − 4

x4 − 16

64. Evaluate: ∫√cot θdθ

https://dl.doubtnut.com/l/_IIYEgiCUu667
https://dl.doubtnut.com/l/_ReDACxOswUxl
https://dl.doubtnut.com/l/_Gpd5h8zwZhdt
https://dl.doubtnut.com/l/_X60ztWp6T5hl
https://dl.doubtnut.com/l/_cAkGp38hg9TT


Watch Video Solution

65. Evaluate:


Watch Video Solution

∫ dx
1

√(x − 2)(x − 3)

66. Evaluate:


Watch Video Solution

∫ dx
sec2 x

√tan2 x + 16

67. Evaluate: 

Watch Video Solution

∫  dx
ex

√4 − e2x

68. Evaluate 

Watch Video Solution

∫ .
sec2 xdx

√2 + 3 tan2 x

https://dl.doubtnut.com/l/_cAkGp38hg9TT
https://dl.doubtnut.com/l/_95XU24WuIBYe
https://dl.doubtnut.com/l/_YjcANeqV31vT
https://dl.doubtnut.com/l/_m72dyp8FSmuq
https://dl.doubtnut.com/l/_EBkqT5NYlJUy


69. Evaluate

Watch Video Solution

∫√secx − 1dx, 0 < x <
π

2

70. Evaluate:


Watch Video Solution

∫√ dx.
1 + x

x

71. Evaluate:


Watch Video Solution

∫ dx.
sinx

sin 2x

72. Evaluate:


Watch Video Solution

∫ dx
1

3 + sin 2x

https://dl.doubtnut.com/l/_EBkqT5NYlJUy
https://dl.doubtnut.com/l/_HI45IMlV0Aoa
https://dl.doubtnut.com/l/_BCDYDPma5pDM
https://dl.doubtnut.com/l/_NVMLukvFeDbY
https://dl.doubtnut.com/l/_jgcZq5nECrM4


73. Evaluate 

Watch Video Solution

∫ .
dx

sinx + cos x

74. If , then
 (a)


 (b) 
 (c) 
 (d) 

Watch Video Solution

∫ dx = ax + b ln|2 sinx + 3 cos x| + C
3 sinx + 2 cos x

3 cos x + 2 sinx

a = − , b =
12

13

15

39
a = − , b =

7
13

6

13
a = , b =

12

13

15

39

a = − , b = −
7
13

6

13

75. Evaluate: 

Watch Video Solution

∫  dx
1

(x + 3)√x − 1

76. Evaluate:


Watch Video Solution

∫ dx
1

(x + 1)√x2 − 1

https://dl.doubtnut.com/l/_mGBPuWHHiEFC
https://dl.doubtnut.com/l/_KE0V9KR15cjy
https://dl.doubtnut.com/l/_77MjIWzPEo4u
https://dl.doubtnut.com/l/_VMTv0OVZXdLu


77. Evaluate:


Watch Video Solution

∫ dx
x2 − 1

(x2 + 1)√1 + x4

78. Evaluate 

Watch Video Solution

∫ .
dx

(1 + x2)√1 − x2

79. Evaluate 

Watch Video Solution

∫ .
(sinx + cos x)dx

√3 + sin 2x

80. Evaluate:


Watch Video Solution

∫ dx
sinx

2 + sin 2x

https://dl.doubtnut.com/l/_ZfQdDPGU1rAM
https://dl.doubtnut.com/l/_5j3CjvcSFa0E
https://dl.doubtnut.com/l/_lxVKGYxZqMJl
https://dl.doubtnut.com/l/_UKljAmPPqM9e


81. Evaluate:


Watch Video Solution

∫ dx
2x + 1

(x − 1)(x + 2)

82. Evaluate:


Watch Video Solution

∫ dx
2x

(x2 − 2)(x2 − 3)

83. Evaluate:


Watch Video Solution

∫ dx
1

sinx − sin 2x

84. Evaluate:


Watch Video Solution

∫ dx
(x − 1)(x − 2)(x − 3)

(x − 4)(x − 5)(x − 6)

https://dl.doubtnut.com/l/_YvPMqPY4T1gr
https://dl.doubtnut.com/l/_lYiHyPUWpVFC
https://dl.doubtnut.com/l/_2eLhkHUu4X5J
https://dl.doubtnut.com/l/_Hbbp65k2HN3Q


85. Evaluate: 

Watch Video Solution

∫  dx
x2

(x2 + 1)(x2 + 4)

86. Evaluate:


Watch Video Solution

∫ dx
sinx

sin 4x

87. Evaluate:


Watch Video Solution

∫ dx
x + 1

(x − 1)(x + 3)

88. Evaluate:


Watch Video Solution

∫ dx
x

(x − 1)(x2 + 4)

https://dl.doubtnut.com/l/_aHuuyv3NhGBE
https://dl.doubtnut.com/l/_gbMVsx883h9j
https://dl.doubtnut.com/l/_NdQDcmwc2Zii
https://dl.doubtnut.com/l/_7zoUHuQXX1xa


89. Evaluate:


Watch Video Solution

∫ dx
(log)exe

.
loge2e

.
loge3xe

x

90. Evaluate .

Watch Video Solution

∫x sin 3xdx

91. Evaluate .

Watch Video Solution

∫x logxdx

92. Evaluate .

Watch Video Solution

∫sin− 1 xdx

93. Evaluate ∫x2ex
2
(2x)dx

https://dl.doubtnut.com/l/_CaoBB9vw8Rzp
https://dl.doubtnut.com/l/_yQxPRe2DtZyX
https://dl.doubtnut.com/l/_48VrAIGeGEMU
https://dl.doubtnut.com/l/_Y2KxQfG060r7
https://dl.doubtnut.com/l/_lkxrKEzj04cN


Watch Video Solution

94. Evaluate: 

Watch Video Solution

∫  dx
x2 tan− 1 x

1 + x2

95. Evaluate:


Watch Video Solution

∫ dx
x − sinx

1 − cos x

96. If  is polynomaial function of degree n, prove that

where 

Watch Video Solution

f(x)

∫exf(x)dx = ex[f(x) − f' (x) + f' ' (x) − f' ' ' (x) + ...... + ( − 1)nfn(x)

fn(x) =
dnf

dx
n

97. Evaluate:
∫sin− 1 √ dx.
x

a + x

https://dl.doubtnut.com/l/_lkxrKEzj04cN
https://dl.doubtnut.com/l/_fWLvyXsTeIMB
https://dl.doubtnut.com/l/_osZXPKJ8RkF5
https://dl.doubtnut.com/l/_xIry6Vw9a8o3
https://dl.doubtnut.com/l/_OXJ0wBJO4mtt


Watch Video Solution

98. Evaluate : 

Watch Video Solution

∫ dx
loge 1 + sin2 x

cos2 x

99. Evaluate: 

Watch Video Solution

∫e2x sin 3xdx

100. Evaluate .

Watch Video Solution

∫ dx
cos(logx)

x

101. Evaluate:


Watch Video Solution

∫esin ^ (( − 1)x)dx.

https://dl.doubtnut.com/l/_OXJ0wBJO4mtt
https://dl.doubtnut.com/l/_4WIu1uc4QJCC
https://dl.doubtnut.com/l/_9Y1yB9pNPrKt
https://dl.doubtnut.com/l/_oicxHsPyx2En
https://dl.doubtnut.com/l/_4XEPSDeQP1SV


102. Evaluate:


Watch Video Solution

∫√1 + 3x − x2dx

103. 

Watch Video Solution

∫sec3 xdx

104. Evaluate:


Watch Video Solution

∫(x − 5)√x2 + xdx

105. Evaluate:


Watch Video Solution

∫( − logxsin x)dx.
cos x
x

106. Evaluate .∫(3x2tan − xsec2 )dx
1

x

1

x

https://dl.doubtnut.com/l/_IR1ppMrCo6Xd
https://dl.doubtnut.com/l/_9bbqZw3PNLSE
https://dl.doubtnut.com/l/_b0tDTVEDerWo
https://dl.doubtnut.com/l/_rYr9deWkhCmF
https://dl.doubtnut.com/l/_PhQup3ekfsAC


Watch Video Solution

107. Evaluate:


Watch Video Solution

∫(log(logx) + )dx
1

(logx)2

108. Evaluate:


Watch Video Solution

∫ex( − )dx.
1

x

1

x2

109. Evaluate: 

Watch Video Solution

∫ex (logx + ) dx
1

x2

110. Evaluate : 

∫
xexdx

(x + 1)
2

https://dl.doubtnut.com/l/_PhQup3ekfsAC
https://dl.doubtnut.com/l/_CGcMHsIqyyU9
https://dl.doubtnut.com/l/_sNc9EZWMpGSc
https://dl.doubtnut.com/l/_Kee07EGQSLtl
https://dl.doubtnut.com/l/_2dLNj48mplQl


EXAMPLE

Watch Video Solution

111. Evaluate:


Watch Video Solution

∫ex( )dx
1 − sinx

1 − cos x

112. Evaluate:


Watch Video Solution

∫ dx
logx

(1 + logx)2

1. Evaluate: 

Watch Video Solution

∫  dx
1

x1 / 2 + x1 / 3

2. Evaluate:
∫ dx
x2 − 1

(x4 + 3x2 + 1)tan− 1(x + )1
x

https://dl.doubtnut.com/l/_2dLNj48mplQl
https://dl.doubtnut.com/l/_vqbFc0KCJQn2
https://dl.doubtnut.com/l/_zLV1piHdweGT
https://dl.doubtnut.com/l/_gXR8KvT4zmtr
https://dl.doubtnut.com/l/_6jy4pIxGfBis


Watch Video Solution

3. Evaluate:


Watch Video Solution

∫√
1 − √x

1 + √x

4. Evaluate .

Watch Video Solution

∫
√x2 + 1{loge(x

2 + 1) − 2 logx}dx

x4

5. Evaluate: 

Watch Video Solution

∫( ) dx
x2 − 1

x4 − x2 + 1

6. Evaluate:


Watch Video Solution

∫√ dx
1 + x2

x2 − x4

https://dl.doubtnut.com/l/_6jy4pIxGfBis
https://dl.doubtnut.com/l/_QliuxLPMhZ0k
https://dl.doubtnut.com/l/_7clHptKPb4WW
https://dl.doubtnut.com/l/_VZ2vIdWUwO9B
https://dl.doubtnut.com/l/_JpPYkIDFwVnf


7. Evaluate: If
  prove that 

Watch Video Solution

∫cosn x
.

dx

In = (cosn− 1 x sinx) + ( )In− 2
1

n

n − 1

n

8. Evaluate:


Watch Video Solution

∫
(1 − x sinx)dx

x(1 − x3e3 cos x)

9. Evaluate:

Watch Video Solution

∫ [(sec− 1 √1 + x2 + cos − 1( )]dx(x > 0).
etan ^ (( − 1)x)

(1 + x2)

1 − x2

1 + x2

10. Evaluate :


Watch Video Solution

∫ dx
2x

(1 − x2)√x4 − 1

https://dl.doubtnut.com/l/_JpPYkIDFwVnf
https://dl.doubtnut.com/l/_MVHUKukePtEL
https://dl.doubtnut.com/l/_rkFPv6rZJStr
https://dl.doubtnut.com/l/_Bhw7qX7GBlwK
https://dl.doubtnut.com/l/_VOLX2BXomjBS


Watch Video Solution

11. Evaluate 

Watch Video Solution

∫ .
xdx

x3√x2 − 1

12. Evaluate:


Watch Video Solution

∫√ sin− 1( √3 − x)dx
3 − x

3 + x

1

6

13. Evaluate:
  


Watch Video Solution

∫cos 2θ ln( )dθ
cos θ + sin θ

cos θ − sin θ

14. Evalaute .

Watch Video Solution

∫x _ 1 / 2(2 + 3x1 / 2)
− 2

dx

https://dl.doubtnut.com/l/_VOLX2BXomjBS
https://dl.doubtnut.com/l/_XsFLxQUgUFr6
https://dl.doubtnut.com/l/_WZSKUxMCdLVv
https://dl.doubtnut.com/l/_uGcGIf2k1Mie
https://dl.doubtnut.com/l/_UeXss4lovlsC
https://dl.doubtnut.com/l/_McbigIo9ZhIR


15. Evaluate:


Watch Video Solution

∫sin− 1( )dx
2x + 2

√4x2 + 8x + 13

16. Evaluate for 

Watch Video Solution

m ∈ N,

∫(x3m + x2n + xm)(2x2m + 3xm + 6) dx, x > 0
1
m

17. Evaluate .

Watch Video Solution

∫
dx

cos x√cos 2x

18.  equals

Watch Video Solution

∫(sin(101x). sin99 x)dx

https://dl.doubtnut.com/l/_McbigIo9ZhIR
https://dl.doubtnut.com/l/_rMMdgrrlHb0v
https://dl.doubtnut.com/l/_AnpZjnUNtOTk
https://dl.doubtnut.com/l/_HQryB4E6vi3d


CONCEPT APPLICATION EXERCISE 7.1

1. Evaluate 

Watch Video Solution

∫(secx − tanx)2
dx

2. Evaluate :


Watch Video Solution

∫(1 − cos x)cos ec2xdx

3. Evaluate:


Watch Video Solution

∫amxbnxdx

4. Evaluate:


Watch Video Solution

∫ dx.
secx

secx + tanx

https://dl.doubtnut.com/l/_88XOdIS7LRce
https://dl.doubtnut.com/l/_YXobsQVaC1y2
https://dl.doubtnut.com/l/_hRqLpfrB1zlF
https://dl.doubtnut.com/l/_3Rwn9jWGp9on
https://dl.doubtnut.com/l/_kXOdziGDm2cX


5. If
  ,then the value of 

Watch Video Solution

∫ dx = f(x) + c
1

x + x5
∫ dx.

x4

x + x5

6. Evaluate: 

Watch Video Solution

∫(a tanx + b cot x)2 dx

7. Solve the following integration 

Watch Video Solution

∫ dx
sin4 x + cos4 x

sin2 x ⋅ cos2 x

8. Evaluate 

Watch Video Solution

∫tan− 1(secx + tanx)dx, − π/2 < x < π/2

https://dl.doubtnut.com/l/_kXOdziGDm2cX
https://dl.doubtnut.com/l/_LgTUkFSXRZxV
https://dl.doubtnut.com/l/_Mkc1NwjKSfiV
https://dl.doubtnut.com/l/_IsrrZuMkX5DD


CONCEPT APPLICATION EXERCISE 7.2

9. Evaluate: 

Watch Video Solution

∫  dx
cos 2x − cos 2α

cos x − cosα

1. Evaluate:


Watch Video Solution

∫
dx

√x − √x − 3

2. Evaluate:


Watch Video Solution

∫(1 + 2x + 3x2 + 4x3 + .... )dx, (|x| < 1)

3. Evaluate:


Watch Video Solution

∫ dx
x4

x − 1

https://dl.doubtnut.com/l/_ztO9m2Q8RoKt
https://dl.doubtnut.com/l/_JDN1d3CvuANv
https://dl.doubtnut.com/l/_Vi84XVRfXG5V
https://dl.doubtnut.com/l/_llqBbEHlSYtZ


CONCEPT APPLICATION EXERCISE 7.3

4. Evaluate:


Watch Video Solution

∫ dx
e2x + e4x

ex + e−x

5. Evaluate 

Watch Video Solution

∫tan2 x sin2 xdx

6. Evaluate:


Watch Video Solution

∫ (2 + 2 sin 2x)dx
cos x − sinx

cos x + sinx

7. Evaluate 

Watch Video Solution

∫sinx cos x cos 2x cos 4x cos 8xdx

https://dl.doubtnut.com/l/_1VyPdwBmlwpJ
https://dl.doubtnut.com/l/_qMTc9LCAnILY
https://dl.doubtnut.com/l/_5FH28cxSkoki
https://dl.doubtnut.com/l/_yQKslYCNveuP


1. Evaluate:


Watch Video Solution

∫
dx

x + x logx

2. Evaluate 

Watch Video Solution

∫ dx
x + 1

x(x + loge x)

3. Evaluate: 

Watch Video Solution

∫{1 + tanx tan(x + θ)} dx

4. Evaluate 

Watch Video Solution

∫ dx
1 + x2 loge x

x + x2 loge x

https://dl.doubtnut.com/l/_k3la1CG4CagN
https://dl.doubtnut.com/l/_sux2WmryHJZq
https://dl.doubtnut.com/l/_ykZ4pjIhTOxY
https://dl.doubtnut.com/l/_xq9ztfnFnGDP


5. Evaluate:


Watch Video Solution

∫ dx
(1 + logx)

3

x

6.  is equal to

Watch Video Solution

I = ∫ dx
loge(loge x)

x(loge x)

7. Evaluate:


Watch Video Solution

∫( )(x + logx)
2
dx

x + 1

x

8. Evaluate:


Watch Video Solution

∫ dx
√tanx

sinx cos x

https://dl.doubtnut.com/l/_KpfksvJt4QgQ
https://dl.doubtnut.com/l/_PvYxjMzO8lCJ
https://dl.doubtnut.com/l/_AHVASMszKc4d
https://dl.doubtnut.com/l/_qTbdCHXs6TZr


9. Evaluate 

Watch Video Solution

∫cosec4xdx

10. Evaluate 

Watch Video Solution

∫ dx
sin6 x

cos8 x

11. Evaluate:


Watch Video Solution

∫
dx

(1 + sinx)
1
2

12. Evaluate: 

Watch Video Solution

∫  dx
sinx

sin(x − a)

https://dl.doubtnut.com/l/_QkKgLwggmJiS
https://dl.doubtnut.com/l/_llhIKJX2kiLc
https://dl.doubtnut.com/l/_gBJQu6rR5SLj
https://dl.doubtnut.com/l/_eULg9ohxnOjB


13. Evaluate 

Watch Video Solution

∫tan3 xdx

14. Evaluate 

Watch Video Solution

∫
dx

cot2 x − 1

15. Evaluate:


Watch Video Solution

∫ dx
1

x2√1 + x2

16. ,then  is equal to
 (a) 
 (b) 


(c) 
(d) 

Watch Video Solution

IfI = ∫
dx

(2ax + x2)
3
2

I − + c
x + a

√2ax + x2

− + c
1

a

x + a

√2ax + x2
− + c

1

a2

x + a

√2ax + x2
− + c

1

a3

x + a

√2ax + x3

https://dl.doubtnut.com/l/_4bsb1iF8zOv7
https://dl.doubtnut.com/l/_BlXa2tC3FEp8
https://dl.doubtnut.com/l/_4OGEbT6l8mrc
https://dl.doubtnut.com/l/_NumuTpbhzdG6


CONCEPT APPLICATION EXERCISE 7.4

1. Evaluate:


Watch Video Solution

∫ dx
sin 2x

(a + b cos x)2

2. Evaluate: 

Watch Video Solution

∫ dx
x3 tan− 1 x4

1 + x8

3. Evaluate:


Watch Video Solution

∫
√xdx

1 + x3

4. Evaluate 

Watch Video Solution

∫
dx

x + √x

https://dl.doubtnut.com/l/_FuVRjUWEi2Ti
https://dl.doubtnut.com/l/_wJtGtXXSh4kr
https://dl.doubtnut.com/l/_az1wfNftfzPN
https://dl.doubtnut.com/l/_6s97lbKYyCsB
https://dl.doubtnut.com/l/_GXIUblwkJw2S


5. Evaluate:


Watch Video Solution

∫ dx
e2x − 2ex

e2x + 1

6. Evaluate: 

Watch Video Solution

∫  dx
1

ex − e−x

7. Evaluate:


Watch Video Solution

∫ dx
log(1 + )1

x

x(1 + x)

8. Evaluate:


Watch Video Solution

∫ dx
ax3 + bx

x4 + c2

https://dl.doubtnut.com/l/_GXIUblwkJw2S
https://dl.doubtnut.com/l/_56y4R6iRaXsL
https://dl.doubtnut.com/l/_XWtUelfyZBeL
https://dl.doubtnut.com/l/_uZ33rfADJliy


9. Evaluate:


Watch Video Solution

∫
dx

x (1 + x )
2
3

2
3

10. Evaluate 

Watch Video Solution

∫x3(x4 + 1)
− 1

dx

11. Evaluate:


Watch Video Solution

∫
secxdx

√cos 2x

12. Evaluate 

Watch Video Solution

∫sin5 x cos2 xdx

https://dl.doubtnut.com/l/_AEuFUsfnnyLb
https://dl.doubtnut.com/l/_55yxwYvdyGSg
https://dl.doubtnut.com/l/_sIhQSgZAguhH
https://dl.doubtnut.com/l/_gLVTCJoAxDDD


13. Evaluate:


Watch Video Solution

∫
ddx

√1 + x2 + √(1 + x2)
3

14. Evaluate:


Watch Video Solution

∫ dx
(x − x3)

1
3

x4

15. Evaluate:


Watch Video Solution

∫
dx

x2(1 + x7)
6
7

16. 

Watch Video Solution

∫
dx

x2(x4 + 1)3 / 4

https://dl.doubtnut.com/l/_Bku0kfrNpPjE
https://dl.doubtnut.com/l/_JY5qFZHiBjOe
https://dl.doubtnut.com/l/_qrwYp5CdnCHi
https://dl.doubtnut.com/l/_ubEczT1Sbckg


17. Evaluate: 

Watch Video Solution

∫  dx
(x5 − x)

1
5

x6

18. Evaluate:


Watch Video Solution

∫xx1n(ex)dx

19. Evaluate:


Watch Video Solution

∫
dx

(x − p)√(x − p)(x − q)

20. Evaluate:


Watch Video Solution

∫ dx
[√1 + x2 + x]

n

√1 + x2

https://dl.doubtnut.com/l/_Qvds0O8Gfnds
https://dl.doubtnut.com/l/_MyJBRo5pL5fm
https://dl.doubtnut.com/l/_yZI23QHpLbZB
https://dl.doubtnut.com/l/_kXKW1LKTwYFS


CONCEPT APPLICATION EXERCISE 7.5

1. Evaluate 

Watch Video Solution

∫
dx

1 − x − x2

2. Evaluate 

Watch Video Solution

∫ dx
x2 − √3x + 1

x4 − x2 + 1

3. Evaluate: 

Watch Video Solution

∫  dx
x2

x6 + a6

4. Evaluate: 

Watch Video Solution

∫  dx
sinx

cos 2x

https://dl.doubtnut.com/l/_B9wqEfLyywBZ
https://dl.doubtnut.com/l/_t6jOa4DzLVNy
https://dl.doubtnut.com/l/_YtdqkNcOIxMz
https://dl.doubtnut.com/l/_x7hg9ibOBs0d
https://dl.doubtnut.com/l/_HK26QStHsW6k


5. Evaluate:


Watch Video Solution

∫ dx
ex

e2x + 4ex + 3

6. Evaluate 

Watch Video Solution

∫ dx
x2 + x + 1

x2 − 1

7. Evaluate:


Watch Video Solution

∫ dx
1

x4 + 1

8. Evaluate: 

Watch Video Solution

∫
dx

sin4 x + cos4 x

https://dl.doubtnut.com/l/_HK26QStHsW6k
https://dl.doubtnut.com/l/_LCOEomUWYBps
https://dl.doubtnut.com/l/_xB3NVreR7fvv
https://dl.doubtnut.com/l/_AnIjkpedBKDK


CONCEPT APPLICATION EXERCISE 7.6

9. answer the foll. Questions: (ii)evaluate :

Watch Video Solution

∫ dx
x4 + 1

x6 + 1

1. Evaluate:


Watch Video Solution

∫ dx
x3

√1 − x8

2. Evaluate:


Watch Video Solution

∫√ dx
x

a3 − x3

3. Evaluate:


Watch Video Solution

∫ dx
ex

√1 − e2x

https://dl.doubtnut.com/l/_O1MYD4NLkYSe
https://dl.doubtnut.com/l/_Th7QQQdAI7PA
https://dl.doubtnut.com/l/_wMUyy5vTIWt3
https://dl.doubtnut.com/l/_eJ0w4rtJcnE5


CONCEPT APPLICATION EXERCISE 7.7

4. Evaluate:


Watch Video Solution

∫ dx
2x + 3

√x2 + 4x + 3

5. Evaluate:


Watch Video Solution

∫ dx
x

3
2

√1 + x5

6. Evaluate 

Watch Video Solution

∫√1 + cosecxdx, (π/2 < x < π)

1. Evaluate:


Watch Video Solution

∫ dx
1

3 + sin 2x

https://dl.doubtnut.com/l/_Vmv2gkMvdaGp
https://dl.doubtnut.com/l/_fDd4ez9EA7Dm
https://dl.doubtnut.com/l/_pZSpFBoUll2m
https://dl.doubtnut.com/l/_EcD6d4mHQxbQ


2. Evaluate:


Watch Video Solution

∫
cos xdx

16 + 25 sin2 x

3. Evaluate: 

Watch Video Solution

∫  dx
x + 2

(x − 2)√x + 3

4. Evaluate 

Watch Video Solution

∫
ex(dx)

√1 + ex + e2x

5. Evaluate:


Watch Video Solution

∫ dx
1

(x + 1)√x2 − 1

https://dl.doubtnut.com/l/_lVvZYZ2DukOH
https://dl.doubtnut.com/l/_EYnZaK4x8jaU
https://dl.doubtnut.com/l/_ia6ujPrnLMTP
https://dl.doubtnut.com/l/_azaE0lXsNI9H


6. Evaluate:


Watch Video Solution

∫ dx
x2 − 1

(x2 + 1)√1 + x4

7. Evaluate:


Watch Video Solution

∫ dx
x

(x2 + 4)√x2 + 1

8. Evaluate:


Watch Video Solution

∫ dx
1

(x + 1)√x2 + x + 1

9. Evaluate: 

Watch Video Solution

∫ dx
x − 1

(x + 1)√x3 + x2 + x

https://dl.doubtnut.com/l/_12BipJrC77JZ
https://dl.doubtnut.com/l/_gbIDMEr72bYK
https://dl.doubtnut.com/l/_MTJUdlW6NK5F
https://dl.doubtnut.com/l/_zXM25rUmILIm


CONCEPT APPLICATION EXERCISE 7.8

10. Evaluate:


Watch Video Solution

∫(√tanx − √cot x)dx

1. Evaluate:


Watch Video Solution

∫ dx
1

(x2 − 4)√x + 1

2. Evaluate:


Watch Video Solution

∫ dx
x2 + 1

x(x2 − 1)

3. Evaluate:


Watch Video Solution

∫ dx
1

x4 − 1

https://dl.doubtnut.com/l/_VhMZqOMpTca0
https://dl.doubtnut.com/l/_Wb0PYnvLz4mH
https://dl.doubtnut.com/l/_sxQCBtForMDL
https://dl.doubtnut.com/l/_bwFGcAHKUhf5


CONCEPT APPLICATION EXERCISE 7.9

4. Evaluate: 

Watch Video Solution

∫  dx
x3

(x − 1)(x − 2)

5. Evaluate:


Watch Video Solution

∫
dx

sinx(3 + cos2 x)

6. Evaluate:


Watch Video Solution

∫
cos 2x sin 4xdx

cos4 x(1 + cos2 2x)

7. Evaluate:


Watch Video Solution

∫
1 − cos x

cos x(1 + cos x)dx

https://dl.doubtnut.com/l/_wFlv4wOMIXNM
https://dl.doubtnut.com/l/_G1D3HLMhexTa
https://dl.doubtnut.com/l/_aUiNMluHwNXp
https://dl.doubtnut.com/l/_0sYUdsDDkttz


1. Evaluate 

Watch Video Solution

∫x sinxdx

2. Evaluate 

Watch Video Solution

∫cos √xdx

3. Evaluate:


Watch Video Solution

∫tan− 1xdx

4. Evaluate:
If 

Watch Video Solution

∫f(x)dx = g(x), then∫f − 1(x)dx

5. Evaluate:
∫ [f(x)g' ' (x) − f' ' (x)g(x)]dx

https://dl.doubtnut.com/l/_Eh2NxzhfoBQc
https://dl.doubtnut.com/l/_5Ba212G2MvzL
https://dl.doubtnut.com/l/_bUcWIyLm2Nec
https://dl.doubtnut.com/l/_63lb7uG1xu9I
https://dl.doubtnut.com/l/_YDIbzDVgTjut


Watch Video Solution

6. Evaluate:
If 

Watch Video Solution

∫f(x)dx = g(x), then∫f − 1(x)dx

7. Evaluate 

Watch Video Solution

∫(loge x)2
dx

8. 

Watch Video Solution

∫ dx
x cos − 1 x

√1 − x2

9. Evaluate:


Watch Video Solution

∫tan− 1 √ dx
1 − x

1 + x

https://dl.doubtnut.com/l/_YDIbzDVgTjut
https://dl.doubtnut.com/l/_JrKDGNG49e5S
https://dl.doubtnut.com/l/_X0WCH5Vxhbpo
https://dl.doubtnut.com/l/_KkoVNy6BV3NF
https://dl.doubtnut.com/l/_kG2sfvNOv53P


10. Evaluate:


Watch Video Solution

∫cos ecx log(cot( ))dx
x

2

11. Evaluate:


Watch Video Solution

∫sin2(logx)dx

12. Evaluate:


Watch Video Solution

∫ex(1 + tanx + tan2 x)dx

13. Evaluate:


Watch Video Solution

∫
ex(2 − x2)dx

(1 − x)√1 − x2

https://dl.doubtnut.com/l/_NDVlONM2tzm6
https://dl.doubtnut.com/l/_pjGWSTJOoM9V
https://dl.doubtnut.com/l/_9cReyETHtS22
https://dl.doubtnut.com/l/_2MhgvBceBtOI


EXERCISES (Single Correct Answer Type)

14. Evalaute:


Watch Video Solution

∫( )

2

dx
logx − 1

1 + (logx)
2

15. Evaluate 

Watch Video Solution

∫√x2 + 4x + 8dx

1.  is equal to:

A. 

B. 

C. 

D. 

I = ∫ dx
sin8 x − cos8 x

1 − 2 sin2 x cos2 x

sin 2x + C
1

2

− sin 2x + C
1

2

− sinx + C
1

2

−sin2 x + C

https://dl.doubtnut.com/l/_NkdYEOs0ULAY
https://dl.doubtnut.com/l/_Fb6djaaBDhaS
https://dl.doubtnut.com/l/_k1TbCmoPBGxa


Answer: B

Watch Video Solution

2. If 
 (a) 
 (b) 

(c) 
(d) None of this

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫ dx = A cos 4x + B, then
cos 4x + 1

cot x − tanx
A = −

1

8
B =

1

2

A = −
1

4

A = − 1/2

A = − 1/8

A = − 1/4

3. ∫(√ + √ )dx  is equal to 
a + x

a − x

a − x

a + x

https://dl.doubtnut.com/l/_k1TbCmoPBGxa
https://dl.doubtnut.com/l/_j6kboZDSTcgz
https://dl.doubtnut.com/l/_esOyKlsnDFEM


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2 sin− 1(x/a) + c

2a sin− 1(x/a) + c

2 cos − 1(x/a) + c

2a cos − 1(x/a) + c

4. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫√1 + sinxdx  is equal to 

√1 − sinx + C

2(sin(x/2) + cos(x/2)) + C

2(cos(x/2) − sin(x/2)) + C

2√1 − sinx + C

https://dl.doubtnut.com/l/_esOyKlsnDFEM
https://dl.doubtnut.com/l/_qtVUQ7laixsd


5. Evaluate:


Watch Video Solution

∫ dx
(3 sinx − 2)cos x

5 − cos2 x − 4 sinx

6. If 
 
 (b) 


(c) 
(d) 1

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫√1 + sinxf(x)dx = (1 + sinx) + c, thenf(x)equal
2

3

3
2 cos x

sinx tanx

cos x

sinx

tanx

1

https://dl.doubtnut.com/l/_qtVUQ7laixsd
https://dl.doubtnut.com/l/_M8Gh3SftwKqw
https://dl.doubtnut.com/l/_mGbOlueuwsyv


7. 


,


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫ dxisequal →
√x − 1

x√x + 1
ln∣

∣x − √x2 − 1∣
∣ − tan− 1 x + c,

ln∣
∣x + √x2 − 1∣

∣ − tan− 1 x + c ln∣
∣x − √x2 − 1∣

∣ − sec− 1 x + c,

ln∣
∣x + √x2 − 1∣

∣ − sec− 1 x + c

In ∣
∣x − √x2 − 1∣

∣ − tan− 1 x + c

In ∣
∣x + √x2 − 1∣

∣ − tan− 1 x + c

In ∣
∣x − √x2 − 1∣

∣ − sec− 1 x + c

In ∣
∣x + √x2 − 1∣

∣ − sec− 1 x + c

8. 

A. 

B. 

IfI = ∫ , thenIequals
dx

secx + cos ecx

(cos x + sinx − log(cosecx − cos x)) + C
1

2

1

√2

(sinx − cos x − log|cosecx − cot x|) + C
1

2

1

√2

https://dl.doubtnut.com/l/_vDzplTh6YBvS
https://dl.doubtnut.com/l/_9XK3H6nHu0ce


C. 

D. 

Answer: D

Watch Video Solution

(sinx + cos x + log|cosecx − cos x|) + C
1

√2

1

2

[sinx − cos x] − log|cosec(x + π/4) − cot(x + π/4)| + C
1

2

1

√2

9. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫ dx  is equal to 
sinx

sin(x − )π
4

(x + loge
∣
∣cos(x − )∣

∣) + c
1

√2

π

4

(x − loge
∣
∣sin(x − )∣

∣) + c
1

√2

π

4

√2(x + loge
∣
∣sin(x − )∣

∣) + c
π

4

(x + loge
∣
∣sin(x − )∣

∣) + c
1

√2

π

4

https://dl.doubtnut.com/l/_9XK3H6nHu0ce
https://dl.doubtnut.com/l/_tyURO4NNlI26


10. Prove that, 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ dx = − ( sin 2x + sinx) + c
cos 5x + cos 4x

1 − 2 cos 3x

1

2

+ cos x + c
sin 2x

2

− cos x + c
sin 2x

2

− − sinx + c
sin 2x

2

− cos x + c
sin 2x

2

11. 


none of these

A. 

IfI = ∫√ dx, thenIequal
5 − x

2 + x

√x + 2√5 + x + 3 sin− 1 √ + C
x + 2

3

√x + 2√5 − x + 7 sin− 1 √ + C
x + 2

7

√x + 2√5 − x + 5 sin− 1 √ + C
x + 2

5

√x + 2√5 − x + 3 sin− 1 √ + C
x + 2

3

https://dl.doubtnut.com/l/_HSMn983quLuO
https://dl.doubtnut.com/l/_kCfdUBK1xQhb


B. 

C. 

D. non of these

Answer: B

Watch Video Solution

√x + 2√5 − x + 7 sin− 1 √ + C
x + 2

7

√x + 2√5 − x + 5 sin− 1 √ + C
x + 2

5

12.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ dx
sin 2x

sin 5x sin 3x

log sin 3x − log sin 5x + c

log sin 3x + log sin 5x + c
1

3

1

5

log sin 3x − log sin 5x + c
1

3

1

5

3 log sin 3x − 5 log sin 5x + c

https://dl.doubtnut.com/l/_kCfdUBK1xQhb
https://dl.doubtnut.com/l/_awl1mPG9Vzlq
https://dl.doubtnut.com/l/_b8RRGJrdZO9V


13.  is equal to

A. 

B. 

C. 

D. non of these

Answer: A

Watch Video Solution

∫
dx

x(xn + 1)

log( ) + c
1

n

xn

xn + 1

log( ) + c
1

n

xn + 1
xn

log( ) + c
xn

xn + 1

14. Evaluate:

A. 

B. 

C. 

D. 

∫
dx

√sin3 x sin(x + α)

−2cosecα(cosα − tanx sinα)
1 / 2

+ C

−2(cosα + cot x sinα)
1 / 2

+ C

−2cosecα(cosα + cot x sinα)
1 / 2

+ C

−2cosecα(sinα − cot x cosα)
1 / 2

+ C

https://dl.doubtnut.com/l/_b8RRGJrdZO9V
https://dl.doubtnut.com/l/_0kO8GjZCxZqK


Answer: C

Watch Video Solution

15.  is equal to 


(1)       
(2)        


(3)       
(4)       

Watch Video Solution

∫ dx
pxp+ 2q− 1 − qxq− 1

x2p+ 2q + 2xp+q + 1

− + C
xp

xp+q + 1
+ C

xq

xp+q + 1

− + C
xq

xp+q + 1
+ C

xp

xp+q + 1

16. If  and  when  , then value of y when

 is

A. 

B. 

C. 

D. none of these

y = ∫ dx
1

(1 + x2)
3
2

y = 0 x = 0

x = 1

1

√2

√2

2√2

https://dl.doubtnut.com/l/_0kO8GjZCxZqK
https://dl.doubtnut.com/l/_2SNcQRxU4O7y
https://dl.doubtnut.com/l/_7b5Fb87MMBcF


Answer: A

Watch Video Solution

17. 

A. 

B. 

C. 

D. non of these

Answer: C

Watch Video Solution

∫√x(1 + x1 / 3)
4
dx  is equal to 

2{x2 / 3 + x11 / 6 + x13 / 6 + x5 / 2 + x17 / 6} + c
4
11

6

13
4
15

1

17

6{x2 / 3 − x11 / 6 + x13 / 6 − x5 / 2 + x17 / 6} + c
4
11

6

13
4
15

1

17

6{ x3 / 2 + x11 / 6 + x13 / 6 + x5 / 2 + x17 / 6} + c
1

9
4
11

6

13
4
15

1

17

18. 

A. 

∫ dx  is equal to 
In(tanx)

sinx cos x

In(tanx) + c
1

2

https://dl.doubtnut.com/l/_7b5Fb87MMBcF
https://dl.doubtnut.com/l/_LEwPLKTQJ8oM
https://dl.doubtnut.com/l/_RZZpBBlp0Z3y


B. 

C. 

D. non of these

Answer: C

Watch Video Solution

In(tan2 x) + c
1

2

(In(tanx))2 + c
1

2

19. If m is a non-zero number and ,

then f(x) is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx = f(x) + c
x5m− 1 + 2x4m− 1

(x2m + xm + 1)3

+ c
x6m + x2m

2m(x2m + xm + 1)2

+ c
x4m

2m(x2m + xm + 1)2

+ c
2mx4m

(x2m + xm + 1)
2

+ c
mx5m

2(x2m + xm + 1)
2

https://dl.doubtnut.com/l/_RZZpBBlp0Z3y
https://dl.doubtnut.com/l/_kPyPJXnCgRN1


20. If 
means 
the 
being repeated 
times, then 


 is equal to
 
 (b) 


(c) 
(d) none of these

A. 

B. 

C. 

D. non of these

Answer: A

Watch Video Solution

lr(x) log log log......x, log r

∫[xl(x)l2(x)l3(x).... . lr(x)]
− 1

dx lr+ 1(x) + C

+ C
lr+ 1(x)

r + 1
lr(x) + C

lr+ 1(x) + C

+ C
lr+ 1(x)

r + 1

lr(x) + C

21. Evaluate: 

A. 

B. 

∫(√tanx + √cot x)dx

√2 log(√tanx − √cot x) + C

√2 log∣∣sinx + cos x + √sin 2x∣∣ + C

https://dl.doubtnut.com/l/_kPyPJXnCgRN1
https://dl.doubtnut.com/l/_QYoGgNnpJgUU
https://dl.doubtnut.com/l/_EgTvTaIMRf8k


C. 

D. 

Answer: B

Watch Video Solution

√2 log∣∣sinx − cos x + √2 sinx cos x∣∣ + C

√2 log∣∣sin(x + π/4) + √2 sinx cos x∣∣ + C

22. 
 
 (b) 


 
(d) 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

IfI = ∫ dx, thenIequals
sin 2x

(3 + 4 cos x)3
+ C

3 cos x + 8

(3 + 4 cos x)2

+ C
3 + 8 cos x

16(3 + 4 cos x)2
+ C

3 cos x

(3 + 4 cos x)2
+ C

3 − 8 cos x

16(3 + 4 cos x)2

+ C
3 cos x + 8

(3 + 4 cos x)
2

+ C
3 + 8 cos x

16(3 + 4 cos x)
2

+ C
3 + cos x

(3 + 4 cos x)2

+ C
3 − 8 cos x

16(3 + 4 cos x)2

https://dl.doubtnut.com/l/_EgTvTaIMRf8k
https://dl.doubtnut.com/l/_gNWXlNc8y0VU


23. 





A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ dxisequa < o
ln( )x− 1

x+ 1

x2 − 1
(ln( ))

2

+ C
1

2

x − 1

x + 1

(ln( ))
2

+ C
1

2

x + 1

x − 1
(ln( ))

2

+ C
1

4

x − 1

x + 1

(ln( ))
2

+ C
1

4

x + 1

x − 1

(In( ))
2

+ C
1

2

x − 1

x + 1

(In( ))
2

+ C
1

2

x + 1

x − 1

(In( ))
2

+ C
1

4

x − 1

x + 1

(In( ))
1

4

x + 1

x − 1

24.  is equal to


(a) 



(b) 



∫√ex − 1dx

2[√ex − 1 − tan− 1 √ex − 1] + c

√ex − 1 − tan− 1 √ex − 1 + c

https://dl.doubtnut.com/l/_baCtpExVADZK
https://dl.doubtnut.com/l/_FDtIH7LBMZew


(c) 



(d) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√ex − 1 + tan− 1 √ex − 1 + c

2[√ex − 1 − tan− 1 √ex − 1] + c

2[√ex − 1 − tan− 1 √ex − 1] + c

√ex − 1 − tan− 1 √ex − 1 + c

√ex − 1 + tan− 1 √ex − 1 + c

2[√ex − 1 + tan− 1 √ex − 1] + c

25. Evaluate:


A. 

B. 

C. 

D. 

∫( )dx
1 + x2

x2 − x4

loge
∣
∣
∣

∣
∣
∣

+ sin− 1(x2) + C
1

4
1 − √1 − x4

1 + √1 − x4

1

2

loge
∣
∣
∣

∣
∣
∣

+ cos − 1(x2) + C
1

2
1 − √1 − x4

1 + √1 − x4

1

2

loge
∣
∣
∣

∣
∣
∣

+ sin− 1(x2) + C
1

2
1 − √1 − x4

1 + √1 − x4

loge
∣
∣
∣

∣
∣
∣

+ cos − 1(x2) + C
1 − √1 − x4

1 + √1 − x4

1

2

https://dl.doubtnut.com/l/_FDtIH7LBMZew
https://dl.doubtnut.com/l/_HYnXpgnR2pFB


Answer: A

Watch Video Solution

26.  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫ dx
√x2 + 10x + 24

x + 5

√x2 + 10x + 24 + sec− 1(x + 5) + c

√x2 + 10x + 24 − cosec− 1(x + 5) + c

sec− 1(x + 5) − √x2 + 10x + 24 + c

√x2 + 10x + 24 − sec− 1(x + 5) + c

27. The value of 

A. 

∫ dx  is 
1 + logx

√(xx)
2

− 1

sec− 1(xx) + c

https://dl.doubtnut.com/l/_HYnXpgnR2pFB
https://dl.doubtnut.com/l/_15qvpoF9IPMN
https://dl.doubtnut.com/l/_ZXVfBBwAkti5


B. 

C. 

D. 

Answer: A

Watch Video Solution

tan− 1(xx) + c

log(xx + √x2x − 1) + c

cot − 1(xx) + c

28. 

find A and B

A. 

B. 

C. 

D. non of these

Answer: B

If ∫x5(1 + x3)
2 / 3

dx = A(1 + x3)
8 / 3

+ B(1 + x3)
5 / 3

+ c,  then 

A = , B =
1

4

1

5

A = , B = −
1

8

1

5

A = − , B =
1

8

1

5

https://dl.doubtnut.com/l/_ZXVfBBwAkti5
https://dl.doubtnut.com/l/_0ukxGabmyjRX


Watch Video Solution

29. Evaluate:


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx
sin 2x

sin4 x + cos4 x

cot − 1(tan2 x) + c

tan− 1(tan2 x) + c

cot − 1(cot2 x) + c

tan− 1(cot2 x) + c

30. 
 is equal to
 
 (b) 


 
(d) none of these

A. 

∫ dx
x + 2

(x2 + 3x + 3)√x + 1
tan− 1( )

1

3

x

√3(x + 1)

tan− 1( )
2

√3

x

√3(x + 1)
tan− 1( )

2

√3

x

√x + 1

tan− 1( )
1

√3

x

√3(x + 1)

https://dl.doubtnut.com/l/_0ukxGabmyjRX
https://dl.doubtnut.com/l/_1AzFMOd5pEuQ
https://dl.doubtnut.com/l/_xN9SARiAchoN


B. 

C. 

D. non of these

Answer: B

Watch Video Solution

tan− 1( )
2

√3

x

√3(x + 1)

tan− 1( )
2

√3

x

√x + 1

31. Evaluate the following Integrals : 

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

∫
secx. dx

√sin(2x + A) + sinA

√tanx cosA − sinA + c
secA

√2

√2 secA√tanx cosA − sinA + c

√2 secA√tanx cosA + sinA + c

https://dl.doubtnut.com/l/_xN9SARiAchoN
https://dl.doubtnut.com/l/_xe3Hzb5z4ES0


32.  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫ dx, x ∈ (0, )
cos 2x

(e−x + cos x)√1 + sin 2x

π

2

loge|1 + ex sinx| + c

loge|ex + cos x| + c

loge|1 + ex cos x| − x + c

loge|1 + ex cos x| + c

33.  is equal to ?

A. 

B. 

C. 

I = ∫ dx
cos 4x + 1

cot x − tanx

In|sec 2x| − cos2 2x + c
1
2

1

4

In|sec 2x| + cos2 x + c
1
2

1

4

In|cos 2x| − cos2 2x + c
1
2

1

4

https://dl.doubtnut.com/l/_xe3Hzb5z4ES0
https://dl.doubtnut.com/l/_xFmodNhZEiZ6
https://dl.doubtnut.com/l/_qQMqB2nt3df6


D. 

Answer: C

Watch Video Solution

In|cos 2x| + cos2 x + c
1

2

1

4

34. If  then  is (A)  (B) 

 (C)  (D) 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫ = − (f(x)) + C
dx

x2(xn + 1)
n− 1
n

1
n f(x) 1 + xn

1 + x−n xn + x−n xn − x−n

(1 + xn)

1 + x−n

xn + x−n

https://dl.doubtnut.com/l/_qQMqB2nt3df6
https://dl.doubtnut.com/l/_pMVP5SWaiVIT


35.  is equal to

A. 

B. 

C. 

D. non of these

Answer: C

Watch Video Solution

∫√ dx
cos x − cos3 x

1 − cos3 x

sin− 1(cos3 / 2 x) + C
2

3

sin− 1(cos3 / 2 x) + C
3

2

− cos − 1(cos3 / 2 x) + C
2

3

36. 
 (a)


 (b) 
 (c)


(d)

A. 

B. 

∫x
⎛

⎝
+

⎞

⎠
dx(wherea, b ∈ R+ )is

lnaa
x

2

3a b3x
5x
2

ln bb
x

2a2xb4x

a2xb3x + k
1

6lna2b3

ln(a2xb3x)

e
+ k

1

6lna2b3

1

a2xb3x

ln 1

ea2xb3x

ln(a2xb3x) + k
1

6lna2
b3

1

a2xb3x
− ln(e(a2xb3x)) + k

1

6lna2
b3

1

a2xb3x

a2xb3xIn + k
1

6Ina2b3

a2xb3x

e

In + k
1

6Ina2b3

1

a2xb3x

1

ea2xb3x

https://dl.doubtnut.com/l/_0cIpB6C0rTeX
https://dl.doubtnut.com/l/_zcJ5dlNWGQYZ


C. 

D. 

Answer: B

Watch Video Solution

In(a2xb3x) + k
1

6Ina2b3

1

a2xb3x

− In(a2xb3x) + k
1

6Ina2b3

1

a2xb3x

37.  is equal to



(a) 



(b) 



(c) 


(d) 

A. 

B. 

C. 

D. 

∫ dx
3 + 2 cos x

(2 + 3 cos x)2

( ) + c
sinx

3 cos x + 2

( ) + c
2 cos x

3 sinx + 2

( ) + c
2 cos x

3 cos x + 2

( ) + c
2 sinx

3 sinx + 2

( ) + c
sinx

3 cos x + 2

( ) + c
2 cos x

3 sinx + 2

( ) + c
2 cos x

3 cos x + 2

( ) + c
2 sinx

3 sinx + 2

https://dl.doubtnut.com/l/_zcJ5dlNWGQYZ
https://dl.doubtnut.com/l/_fQPOpWlg5Rz5


Answer: A

Watch Video Solution

38.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

If f(x) = f' (x),  then ∫ dx
d

dx

xf' (x) − 2f(x)

√x4f(x)

+ c
x2

f(x)

|x|f' (x) + c

+ c
2√f(x)

|x|

|x|√f(x) + c

39. The value of the integral  is∫ dθ
(1 − cos θ)

2
7

(1 + cos θ)
9
7

https://dl.doubtnut.com/l/_fQPOpWlg5Rz5
https://dl.doubtnut.com/l/_fgR0lZX8gdro
https://dl.doubtnut.com/l/_jewbHOypw9r7


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

(tan ) + C
7
11

θ

2

11
7

(cos ) + C
7
11

θ

2

11
7

(sin ) + C
7
11

θ

2

11
7

40. If 
 then



 (b) 
 
 (d) none of

these

A. 

B. 

C. 

D. 

∫ = a√cot x + b√tan3x + c,
dx

√sin3 x cos5 x

a = − 1, b =
1

3
a = − 3, b =

2

3
a = − 2, b =

4
3

a = − 1, b = 1/3

a = − 3, b = 2/3

a = − 2, b = 4/3

a = − 2, b = 2/3

https://dl.doubtnut.com/l/_jewbHOypw9r7
https://dl.doubtnut.com/l/_F4p6TeWQ4n9c


Answer: D

Watch Video Solution

41. 


 
 
 (d) 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

If∫ = a(tan2 x + b)√tanx + c, then
dx

cos3 x√sin 2x

a = , b =
√2

5

1

√5
a = , b = 5

√2

5
a = , b = −

√2

5

1

√5

a = , b = √5
√2

5

a = , b =
√2

5

1

√5

a = , b = 5
√2

5

a = , b = −
√2

5

1

√5

a = , b = √5
√2

5

42. Evaluate: ∫
dx

(x + 2)(x2 + 1)

https://dl.doubtnut.com/l/_F4p6TeWQ4n9c
https://dl.doubtnut.com/l/_zAgE05IlR9rD
https://dl.doubtnut.com/l/_fwv8FJ9AwVvZ


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

a = − , b = −
1

10

2

5

a = , b = −
1

10

2

5

a = − , b =
1

10

2

5

a = , b =
1

10

2

5

43. 
 (a) 


 (b) 
 (c) 
 (d) 

A. 

B. 

C. 

D. 

If∫ dx = ax + b ln(4ex + 5e−x) + C, then
3ex − 5e−x

4ex + 5e−x

a = − , b =
1

8
7
8

a = , b =
1

8
7
8

a = − , b = −
1

8
7
8

a = , b = −
1

8
7
8

a = − , b =
1

8
7
8

a = , b =
1

8
7
8

a = − , b = −
1

8
7
8

a = , b = −
1

8
7
8

https://dl.doubtnut.com/l/_fwv8FJ9AwVvZ
https://dl.doubtnut.com/l/_BOW2SIcahDmL


Answer: A

Watch Video Solution

44. If  ,then f(x) is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫f(x)sinx cos xdx = lnf(x) + c
1

2(b2 − a2)

1

a2 sin2 x + b2 cos2 x

1

a2 sin2 x − b2 cos2 x

1

a2 cos2 x + b2 sin2 x

1

a2 cos2 x − b2 sin2 x

45.  is equal to

Watch Video Solution

∫ dx
x5

(4x2 + 1)
4

https://dl.doubtnut.com/l/_BOW2SIcahDmL
https://dl.doubtnut.com/l/_ecdxi4NsTQBa
https://dl.doubtnut.com/l/_IdvZtDJLpOwx


46. If 
 
(b) 

(c) 
(d0 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ dx = a log
∣
∣
∣

∣
∣
∣

+ b, thenaisequal
1

x√1 − x3

√1 − x3 − 1

√1 − x3 + 1

1

3

2

3

−
1

3
−

2

3

1/3

2/3

−1/3

−2/3

47. The value of the integral 
 is



 (b) 
 
 (d) none of

these

A. 

B. 

∫(x2 + x)(x− 8 + 2x− 9) dx
1
10

(x2 + 2x) + c
5
11

11
10 (x + 1x) + c

5

6

11
10 (x + 1) + c

6

7

11
10

(x2 + 2x)
11 / 10

+ c
5
11

(x + 1)
11 / 10

+ c
5

6

https://dl.doubtnut.com/l/_MhzxnefT5Erw
https://dl.doubtnut.com/l/_RbzrFNFCi3FX


C. 

D. none of these

Answer: A

Watch Video Solution

(x + 1)11 / 10 + c
6

7

48. 



 
 (d) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫ isequa < o
x3dx

√1 + x2
√1 + x2(2 + x2) + C

1

3

√1 + x2(x2 − 1) + C
1

3
(1 + x2) + C

1

3

3
2

√1 + x2(x2 − 2) + C
1

3

√1 + x2(2 + x2) + C
1

3

√1 + x2(x2 − 1) + C
1

3

(1 + x2)
3 / 2

+ C
1

3

√1 + x2(x2 − 2) + C
1

3

https://dl.doubtnut.com/l/_RbzrFNFCi3FX
https://dl.doubtnut.com/l/_fN1w2GsdyZkt


49. If , then I equals

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

I = ∫
dx

(a2 − b2x2)
3 / 2

+ C
x

√a2 − b2x2

+ C
x

a2√a2 − b2x2

+ C
ax

√a2 − b2x2

50. 
 (a) 
 (b) 


(c) 
(d) none of these

A. 

B. 

C. 

∫ dx =
x4 − 1

x2√x4 + x2 + 1
√x2 + + 1 + C

1

x2

+ C
√x4 + x2 + 1

x2
+ C

√x4 + x2 + 1
x

√x2 + + 1 + C
1

x2

+ C
√x4 + x2 + 1

x2

+ C
√x4 + x2 + 1

x

https://dl.doubtnut.com/l/_fN1w2GsdyZkt
https://dl.doubtnut.com/l/_9DNBNIJWMRbp
https://dl.doubtnut.com/l/_aYL9q0SLvNo8


D. none of these

Answer: A

Watch Video Solution

51. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ dx =
√x2 + 1

x4

− + C
1

3

(x2 + 1)
3 / 2

x3

x3(x2 + 1)
− 1 / 2

+ C

+ C
√x2 + 1

x2

− + C
1

3

(x2 + 1)
3 / 2

x2

52.  is equal to∫ dx
1 + 2x6

(1 − x6)3 / 2

https://dl.doubtnut.com/l/_aYL9q0SLvNo8
https://dl.doubtnut.com/l/_l03fzLLmFq7l
https://dl.doubtnut.com/l/_czCka5S66FW9


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

+ c
2x

√1 + x6

+ c
1

√ − x41

x2

+ c
x

√ − x41

x2

+ C
x2 + x

√1 − x6

53. The integral  is equal to-

A. 

B. 

C. 

D. 

Answer: C

∫ . dx
2x12 + 5x9

[x5 + x3 + 1]
3

+ c
x10

2(1 + x3 + x5)4

+ c
x2 + 2x

(x5 + x3 + 1)
4

+ c
x10

2(x5 + x3 + 1)
2

+ c
2x10

(x5 + x3 + 1)3

https://dl.doubtnut.com/l/_czCka5S66FW9
https://dl.doubtnut.com/l/_HCbU9cxEDrHU


Watch Video Solution

54. If  then 

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

In = ∫(lnx)ndx In + nIn− 1

+ C
(In x)

n

x

x(In x)n− 1 + C

x(In x)n + C

55. Let 
Then 
is

A. 

B. 

C. 

∫ex{f(x) − f ′ (x)}dx = φ(x). ∫exf(x)dx

ϕ(x) = exf(x)

ϕ(x) − exf(x)

{ϕ(x) + exf(x)}
1

2

https://dl.doubtnut.com/l/_HCbU9cxEDrHU
https://dl.doubtnut.com/l/_lSDcdhpGFDTY
https://dl.doubtnut.com/l/_4gqyW89sBs5I


D. 

Answer: C

Watch Video Solution

{ϕ(x) + exf' (x)}
1

2

56. For  is equal to

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

x > 1, ∫sin− 1( )dx
2x

1 + x2

x tan− 1 x − In∣∣sec(tan− 1 x)∣∣ + c

x tan− 1 x + In∣∣sec(tan− 1 x)∣∣ + c

x tan− 1 x − In∣∣cos(tan− 1 x)∣∣ + c

https://dl.doubtnut.com/l/_4gqyW89sBs5I
https://dl.doubtnut.com/l/_mU7mnXOKP4kb


57. If

 ,

then
 (A) 
 (B) 
 (C) 
 (D) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ dx = a√1 + x2 ln(x + √1 + x2) + bx + c
x ln(x + √1 + x2)

√1 + x2

a = 1, b = − 1 a = 1, b = 1 a = − 1, b = 1

a = − 1, b = − 1

a = 1, b = − 1

a = 1, b = 1

a = − 1, b = 1

a = − 1, b = − 1

58. 
 then



(b) 
 
(d) none of these

A. 

If∫x log(1 + )dx = f(x)log(x + 1) + g(x)x2 + Ax + C,
1

x

f(x) = x21

2
g(x) = logx A = 1

f(x) = x21

2

https://dl.doubtnut.com/l/_FEM6LiTcltS7
https://dl.doubtnut.com/l/_gafXAXwLBFFu


B. 

C. 

D. none of these

Answer: D

Watch Video Solution

g(x) = logx

A = 1

59. If 





none of these

A. 

B. 

C. 

D. none of these

Answer: C

I = ∫e−x log(ex + 1)dx, thenIequal

a + (e−x + 1)log(ex + 1) + C a + (ex + 1)log(ex + 1) + C

a − (e−x + 1)log(ex + 1) + C

x + (e−x + 1)log(ex + 1) + C

x + (ex + 1)log(ex + 1) + C

x − (e−x + 1)log(ex + 1) + C

https://dl.doubtnut.com/l/_gafXAXwLBFFu
https://dl.doubtnut.com/l/_8DQq0Jvmhw3b


Watch Video Solution

60. Find the value of 

Watch Video Solution

∫x sec2 xdx

61.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫x sinx sec3 xdx

[sec2 x − tanx] + c
1

2

[x sec2 x − tanx] + c
1

2

[x sec2 x + tanx] + c
1

2

[sec2 x + tanx] + c
1

2

https://dl.doubtnut.com/l/_8DQq0Jvmhw3b
https://dl.doubtnut.com/l/_ugMVchneZbh6
https://dl.doubtnut.com/l/_yG1FKQbT7TIT


62.  is equal to
 (a) 
 (b) 


(c) 
(d) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫etan − 1 x(1 + x + x2)d(cot − 1 x) −etan − 1 x + c

etan − 1 x + c −xetan − 1 x + c xetan − 1 x + c

−etan − 1 x + c

etan − 1 x + c

−xetan − 1 x + c

xetan − 1 x + c

63.  is equal to
 (a)


 (b) 
 (c) 
 (d)

none of these

A. 

B. 

∫ex( + cot2(x + ))dx
2 tanx

1 + tanx

π

4

ex tan( − x) + c
π

4
ex tan(x − ) + c

π

4
ex tan( − x) + c

3π

4

ex tan( − x) + c
π

4

ex tan(x − ) + c
π

4

https://dl.doubtnut.com/l/_lWQmmJIjMdHR
https://dl.doubtnut.com/l/_kzMRrdYq3e10


C. 

D. none of these

Answer: B

Watch Video Solution

ex tan( − x) + c
3π

4

64.  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫ex
4
(x3)dx

ex
4

+ c
1

2

ex
4

+ c
1

4

ex
2
ex

4
+ c

1

2

ex
4

+ c
1

3

https://dl.doubtnut.com/l/_kzMRrdYq3e10
https://dl.doubtnut.com/l/_m0SgDaVzmel1


65. The value of integral  is equal to





(d)none of these

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

∫ex
⎛
⎜
⎜
⎝

+
⎞
⎟
⎟
⎠
dx

1

√1 + x2

1 − 2x2

√(1 + x2)
5

(a)ex
⎛
⎜
⎜
⎝

+
⎞
⎟
⎟
⎠

+ c
1

√1 + x2

x

√(1 + x2)
3

(b)ex
⎛
⎜
⎜
⎝

−
⎞
⎟
⎟
⎠

+ c
1

√1 + x2

x

√(1 + x2)3

(c)ex
⎛
⎜
⎜
⎝

+
⎞
⎟
⎟
⎠

+ c
1

√1 + x2

x

√(1 + x2)
5

ex
⎛
⎜
⎜
⎝

+
⎞
⎟
⎟
⎠

+ c
1

√1 + x2

x

√(1 + x2)
3

ex
⎛
⎜
⎜
⎝

−
⎞
⎟
⎟
⎠

+ c
1

√1 + x2

x

√(1 + x2)3

ex
⎛
⎜
⎜
⎝

+
⎞
⎟
⎟
⎠

+ c
1

√1 + x2

x

√(1 + x2)
5

https://dl.doubtnut.com/l/_6fDl0wkdEL7j


66.  is equal to


(a) 



(b) 






(d) none of these

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

∫ex dx
(x2 + 1)

(x + 1)2

( )ex + c
x − 1

x + 1

ex( ) + c
x + 1

x − 1

ex(x + 1)(x − 1) + c

( )ex + c
x − 1

x + 1

ex( ) + c
x + 1

x − 1

ex(x + 1)(x − 1) + c

67.  is equal to∫( )
2

exdx
x + 2

x + 4

https://dl.doubtnut.com/l/_6fDl0wkdEL7j
https://dl.doubtnut.com/l/_s7wDN4C9p5CN
https://dl.doubtnut.com/l/_LC8o5aWdfJRW


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ex( ) + c
x

x + 4

ex( ) + c
x + 2

x + 4

ex( ) + c
x − 2

x + 4

( ) + c
2xe2

x + 4

68. 
 





A. 

B. 

C. 

D. 

Answer: C

∫etan x(secx − sinx)dxisequa < o etan x cos x + C etan x sinx + C

−etan x cos x + C etan x secx + C

etan x cos x + C

etan x sinx + C

−etan x cos x + C

etan x secx + C

https://dl.doubtnut.com/l/_LC8o5aWdfJRW
https://dl.doubtnut.com/l/_Thcyx8BpON9a


Watch Video Solution

69.  is equal to
 (a) 
 (b) 


(c)  (d) none of these

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

∫ dx
cos ec2x − 2005

cos2005 x
− + c

cot x

(cos x)2005

+ c
tanx

(cos x)2005
−

tanx

(cos x)2005 + c

+ c
cot x

(cos x)2005

+ c
tanx

(cos x)2005

+ c
−(tanx)

(cos x)
2005

70.  is equal to (a) 
 (b) 


(c) 
(d) 

A. 

∫(1 + 2x2 + )ex
2 − dx

1

x

1
x −xex

2 − + c
1
x

xex
2 − + c

1
x (2x − 1)ex

2 − + c
1
x (2x + 1)ex

2 − + c
1
x

−xex
2 − + c

1
x

https://dl.doubtnut.com/l/_Thcyx8BpON9a
https://dl.doubtnut.com/l/_6gtL9Ojv9DBj
https://dl.doubtnut.com/l/_IuXuMnAdt9Z2


B. 

C. 

D. 

Answer: B

Watch Video Solution

xex
2 − + c

1
x

(2x − 1)ex
2 − + c

1
x

(2x + 1)ex
2 − + c

1
x

71.  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫esin − 1 x( + )dx
loge x

√1 − x2

1

x

loge x ⋅ esin − 1 x + c

+ c
esin − 1 x

x

−loge x ⋅ esin − 1 x + c

esin − 1 x(loge x + ) + c
1

x

https://dl.doubtnut.com/l/_IuXuMnAdt9Z2
https://dl.doubtnut.com/l/_PODQW0xXbkIL


72. 
 equal.

(A) 
 (B) 
 (C) 
 (D) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ifxf(x) = 3f 2(x) + 2, then∫ dx
2x2 − 12xf(x) + f(x)

(6f(x) − x)(x2 − f(x))2

+ c
1

x2 − f(x)
+ c

1

x2 + f(x)
+ c

1

x − f(x)

+ c
1

x + f(x)

+ c
1

x2 − f(x)

+ c
1

x2 + f(x)

+ c
1

x − f(x)

+ c
1

x + f(x)

73. The value of 
 (a) 
 (b) 


(c) 
(d) none of these

A. 

∫
ax2 − b

x√c2x2 − (ax2 + b)
2

sin− 1(ax + ) + k
1

c

b

x

c sin− 1(a + ) + e
b

x
sin− 1( ) + k

ax + b
x

c

sin− 1(ax + ) + k
1

c

b

x

https://dl.doubtnut.com/l/_sNS781fOmJi2
https://dl.doubtnut.com/l/_0ttzNRXJCcT0


B. 

C. 

D. none of these

Answer: C

Watch Video Solution

c sin− 1(a + ) + k
b

x

sin− 1( ) + k
ax + b

x

c

74.  is equal to ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
dx

(1 + √x)√x − x2

+ c
1 + √x

(1 − x)2

+ c
1 + √x

(1 + x)
2

+ c
1 − √x

(1 − x)
2

+ c
2(√x − 1)

√(1 − x)

https://dl.doubtnut.com/l/_0ttzNRXJCcT0
https://dl.doubtnut.com/l/_jtAzqTCV1p1Y


75.  is equal to

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

∫ dx
2 sinx

3 + sin 2x

In
∣
∣
∣

∣
∣
∣

− tan− 1( ) + c
1

2

2 + sinx − cos x

2 − sinx + cos x

1

√2

sinx + cos x

√2

In
∣
∣
∣

∣
∣
∣

− tan− 1( ) + c
1

2

2 + sinx − cos x

2 − sinx + cos x

1

2√2

sinx + cos x

√2

In
∣
∣
∣

∣
∣
∣

− tan− 1( ) + c
1

4

2 + sinx − cos x

2 − sinx + cos x

1

√2

sinx + cos x

√2

76.  is equal to
 (a)


 (b) 

(c) 
 (d) 

A. 

4∫ dx
√a6 + x8

x

√a6 + x8 + ln
∣
∣
∣

∣
∣
∣

+ c
a3

2

√a6 + x8 + a3

√a6 + x8 − a3
a6 ln

∣
∣
∣

∣
∣
∣

+ c
√a6 + x8 − a3

√a6 + x8 + a3

√a6 + x8 + ln
∣
∣
∣

∣
∣
∣

+ c
a3

2

√a6 + x8 − a3

√a6 + x8 + a3

a6 ln
∣
∣
∣

∣
∣
∣

+ c
√a6 + x8 + a3

√a6 + x8 − a3

√a6 + x8 + In
∣
∣
∣

∣
∣
∣

+ c
a3

2

√a6 + x8 + a3

√a6 + x8 − a3

https://dl.doubtnut.com/l/_IYkqqjPtY9rf
https://dl.doubtnut.com/l/_Odrkr4R2PfZV


B. 

C. 

D. 

Answer: C

Watch Video Solution

a6In
∣
∣
∣

∣
∣
∣

+ c
√a6 + x8 − a3

√a6 + x8 + a3

√a6 + x8 + In
∣
∣
∣

∣
∣
∣

+ c
a3

2

√a6 + x8 − a3

√a6 + x8 + a3

a6In
∣
∣
∣

∣
∣
∣

+ c
√a6 + x8 + a3

√a6 + x8 − a3

77. 
 constant

(b) 
 
(d) 

A. constant

B. 

C. 

D. 

Answer: C

Watch Video Solution

IfIm ,n = ∫cosm x sinnxdx, then7I4 ,3 − 4I3 ,2isequa < o

−cos2 x + C −cos4 x cos 3x + C cos 7x − cos 4x + C

−cos2 x + C

−cos4 x cos 3x + C

cos 7x − cos 4x + C

https://dl.doubtnut.com/l/_Odrkr4R2PfZV
https://dl.doubtnut.com/l/_3SfHWD17Bxvf


Exercises (Multiple Correct Answers Type)

1. Evaluate:

A. 

B. 

C. 

D. 

Answer: A::B::D

Watch Video Solution

∫ =
dx

√2ex − 1

2 sec− 1 √2ex + c

−2tan− 1 + c
1

√2ex − 1

2 sec− 1(√2ex) + c

2 tan− 1 √2ex − 1 + c

2. If 
 
 (b) 


 
(d) 

A. 

∫sinxd(secx) = f(x) − g(x) + c, then f(x) = secx

f(x) = tanx g(x) = 2x g(x) = x

f(x) = secx

https://dl.doubtnut.com/l/_3SfHWD17Bxvf
https://dl.doubtnut.com/l/_JZOUh9UgmhgV
https://dl.doubtnut.com/l/_xpthkT5IoqOq


B. 

C. 

D. 

Answer: B::D

Watch Video Solution

f(x) = tanx

g(x) = 2x

g(x) = x

3. Evaluate: 

A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

∫√1 + cos ecxdx

2 sin− 1 √sinx + c

√2 cos − 1
√cos x + c

c − 2 sin− 1(1 − 2 sinx)

cos − 1(1 − 2 sinx) + c

https://dl.doubtnut.com/l/_xpthkT5IoqOq
https://dl.doubtnut.com/l/_0a492DUoDLfK
https://dl.doubtnut.com/l/_LWDFe0xeKZiI


4. If 
 then

find the values of A,B,C and D.

A. 

B. 

C. 

D. none of these

Answer: A::C

Watch Video Solution

I = ∫sec2 x cos ec4xdx = A cot3 x + B tanx + C cot x + D,

A = −
1

3

B = 2

C = − 2

5. A curve 
 is passing

through origin. Then
 (a) 
 (b) 
 (c) 
 (d)

A. 

B. 

g(x) = ∫x27(1 + x + x2)
6
(6x2 + 5x + 4)dx

g(1) =
37

7
g(1) =

27

7
g( − 1) =

1

7

g( − 1) =
37

14

g(1) =
37

7

g(1) =
27

7

https://dl.doubtnut.com/l/_LWDFe0xeKZiI
https://dl.doubtnut.com/l/_mDBfi9ffFtZM


C. 

D. 

Answer: A::C

Watch Video Solution

g( − 1) =
1

7

g( − 1) =
37

14

6. If  then  and  are

A. 

B. 

C. 

D. 

Answer: B::D

Watch Video Solution

∫ dx = a log( ) + c
(√x)

5

(√x)
7

+ x6

xk

1 + xk
a k

k = − 2, f(x) = cot − 1 x, g(x) = √cosecx − 1

k = − 2, f(x) = tan− 1 x, g(x) = √cosecx − 1

k = 2, f(x) = tan− 1 x, g(x) =
cot x

√cosecx − 1

k = 2, f(x) = cot − 1 x, g(x) =
cot x

√cosecx + 1

https://dl.doubtnut.com/l/_mDBfi9ffFtZM
https://dl.doubtnut.com/l/_BRmWHKxtTJE5


7. If 
 then



 (b) 
 
 (d) 

A. 

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

I = ∫ dx = P cos x + Q log|f(x)| + R,
sinx + sin3 x

cos 2x

P = , Q = −
1

2

3

4√2
P = , Q =

1

4

1

√2
f(x) =

√2 cos x + 1

√2 cos x − 1

f(x) =
√2 cos x − 1

√2 cos x + 1

P = 1/2, Q = −
3

4√2

P = 1/4, Q = −
1

√2

f(x) =
√2 cos x + 1

√2 cos x − 1

f(x) =
√2 cos x − 1

√2 cos x + 1

8. If  and 

A. 

∫ 2xdx = AF (x − 1) + BF (x − 4) + C
ex− 1

(x2 − 5x + 4)

F (x) = ∫ dx, then
ex

x

A = − 2/3

https://dl.doubtnut.com/l/_JJaW6IYb9mov
https://dl.doubtnut.com/l/_hTzLShBxZFtw


B. 

C. 

D. 

Answer: A::D

Watch Video Solution

B = (4/3)e3

A = 2/3

B = (8/3)e3

9. If 
 then the value of 

is______

A. 

B. 

C. 

D. 

Answer: A::C::D

Watch Video Solution

∫x2 .
e

− 2x
dx = e− 2x(ax2 + bx + c) + d, ∣∣∣

∣∣∣
a

bc

a = −
1

2

b =
1

2

c = −
1

4

d ∈ R

https://dl.doubtnut.com/l/_hTzLShBxZFtw
https://dl.doubtnut.com/l/_tNFlGOb0ouNb


10. 



a) both 
are odd functions




is monotonic function



has no real roots



A. both  and  are odd functions

B.  is one-one function

C.  has no real roots

D. 

Answer: A::C::D

Watch Video Solution

If∫ dx = tan− 1 f(x) − tan− 1 g(x) + C, then
x4 + 1

x6 + 1

2

3

f(x)andg(x)

b)f(x)

c)f(x) = g(x)

d)∫ dx = − + + c
f(x)

g(x)

1

x

3

x3

f(x) g(x)

f(x)

f(x) = g(x)

∫ dx = + + c
f(x)

g(x)

1

x

3

x3

11. If , then (a)  is an even function

(b)  is a bounded function
(c) the range of  is 
(d)  has

∫ exdx = exf(x) + c
x2 − x + 1

(x2 + 1)
3
2

f(x)

f(x) f(x) (0, 1) f(x)

https://dl.doubtnut.com/l/_tNFlGOb0ouNb
https://dl.doubtnut.com/l/_xQ8TDS9JulY7
https://dl.doubtnut.com/l/_PSSzfdNXpxag


two points of extrema

A.  is an even function

B.  is a bounded function

C. the range of  is (0, 1]

D.  has two points of extrema

Answer: A::B::C

Watch Video Solution

f(x)

f(x)

f(x)

f(x)

12. If 
 (a) 
 (b) 

(c) 
(d) None of this

A. 

B. 

C.  has fundamental period 

D.  is an odd function

∫ dx = A cos 4x + B, then
cos 4x + 1

cot x − tanx
A = −

1

8
B =

1

2

A = −
1

4

A = −
1

8

B =
1

2

f(x)
π

2

f(x)

https://dl.doubtnut.com/l/_PSSzfdNXpxag
https://dl.doubtnut.com/l/_OIBgqb1krR3j


Answer: A::C

Watch Video Solution

13. If










(d) none of these

A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

∫sin− 1 x cos − 1 xdx = f − 1(x)[ x − xf − 1(x) − 2√1 − x2] + 2x + C, th
π

2

(a)f(x) = sinx

(b)f(x) = cos x

(c)f(x) = tanx

f(x) = sinx

f(x) = cos x

A =
π

4

A =
π

2

https://dl.doubtnut.com/l/_OIBgqb1krR3j
https://dl.doubtnut.com/l/_ZDqG0CjlLZyI


14. If 
 
 is an odd

function
 
 has range 
 
 has at least one real root
 
 is a

monotonic function.

A.  is an odd function

B.  has range R

C.  has at least one real root

D.  is a monotonic function

Answer: A::B::C::D

Watch Video Solution

f(x) = ∫ dxandf(0) = 0, then
x8 + 4

x4 − 2x2 + 2
f(x)

f(x) R f(x) f(x)

f(x)

f(x)

f(x)

f(x)

15. If 
 then
 
 is inverse trigonometric

function for 
 
 is logarithmic function for 
 
 is

quadratic function for 
 
is rational function for 

A.  is inverse trigonometric function for 

∫ = f(g(x)) + c,
dx

x2 + ax + 1
f(x)

|a| > 2 f(x) |a| < 2 g(x)

|a| > 2 g(x) |a| < 2

f(x) |a| < 2

https://dl.doubtnut.com/l/_ZDqG0CjlLZyI
https://dl.doubtnut.com/l/_3JsAMOBQ780y
https://dl.doubtnut.com/l/_TWtDq3ACJFRA


B.  is logarithmic function for 

C.  is quadratic function for 

D.  is rational function for 

Answer: A::B::D

Watch Video Solution

f(x) |a| > 2

g(x) |a| < 2

g(x) |a| > 2

16. If 

A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

∫ dx = P log|x| + Q log∣∣x
7 + 1∣∣ + c

(1 − x7)

x(1 + x7)

a = 1

a = − 1

b =
2

7

b = −
2

7

https://dl.doubtnut.com/l/_TWtDq3ACJFRA
https://dl.doubtnut.com/l/_QxqmLVuhPmlo


Exercises (Linked Comprehension Type)

17. If , then
 (a)


 (b) 
 (c) 
 (d) 

A. 

B. 

C. 

D. 

Answer: C::D

Watch Video Solution

∫ dx = ax + b ln|2 sinx + 3 cos x| + C
3 sinx + 2 cos x

3 cos x + 2 sinx

a = − , b =
12

13

15

39
a = − , b =

7

13

6

13
a = , b =

12

13

15

39

a = − , b = −
7

13

6

13

a = −
12

13

b =
6

13

a =
12

13

b = −
15

39

1.  is a polynomial function passing through point (0, 1) and

which increases in the intervals  and decreases in the

y = f(x)

(1, 2) and (3, ∞)

https://dl.doubtnut.com/l/_y71CXevabjfz
https://dl.doubtnut.com/l/_foCHNbBdNpw5


intervals  

If  then the value of  is

A. -3

B. -6

C. -20

D. -7

Answer: D

Watch Video Solution

(∞, 1) and (2, 3).

f(1) = − 8, f(2)

2.  is a polynomial function passing through point (0, 1) and

which increases in the intervals  and decreases in the

intervals  

If  then the value of  is

A. 

B. 

y = f(x)

(1, 2) and (3, ∞)

(∞, 1) and (2, 3).

f(1) = − 8, f(2)

[3, ∞)

[ − 8, ∞)

https://dl.doubtnut.com/l/_foCHNbBdNpw5
https://dl.doubtnut.com/l/_Ly5w7PQifWkN


C. 

D. 

Answer: B

Watch Video Solution

[ − 7, ∞)

( − ∞, 6]

3.  is a polynomial function passing through point (0, 1) and

which increases in the intervals  and decreases in the

intervals  

If  has four real roots, then the range of values of leading

coefficient of polynomial is

A. [4/9, 1/2]

B. [4/9, 1]

C. [1/3, 1/2]

D. none of these

Answer: A

y = f(x)

(1, 2) and (3, ∞)

(∞, 1) and (2, 3).

f(x) = 0

https://dl.doubtnut.com/l/_Ly5w7PQifWkN
https://dl.doubtnut.com/l/_rlI4SPuGVY5W


Watch Video Solution

4. If  is defined as ,

where  and 1 is identity matrix, then find the

functions f(x) and g(x).

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

eA eA = I + A + + + ... = [
f(x) g(x)

g(x) f(x)
]

A2

2!

A3

3!

1
2

A = [
x x

x x
], 0 < x < 1

log(ex + e−x) + c

log∣∣ex − e−x∣∣ + c

log∣∣e
2x − 1∣∣ + c

5. If  is defined as ,

where  and 1 is identity matrix, then find the

eA eA = I + A + + + ... = [
f(x) g(x)

g(x) f(x)
]

A2

2!

A3

3!

1

2

A = [
x x

x x
], 0 < x < 1

https://dl.doubtnut.com/l/_rlI4SPuGVY5W
https://dl.doubtnut.com/l/_0YZucCiNiy3E
https://dl.doubtnut.com/l/_EtDXUs7mbCwg


functions f(x) and g(x).

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

(sinx − cos x)
ex

2

(2 sinx − cos x)
e2x

5

(sin 2x − cos 2x)
ex

5

6. If  is defined as ,

where  and 1 is identity matrix, then find the

functions f(x) and g(x).

A. 

B. 

C. 

eA eA = I + A + + + ... = [
f(x) g(x)

g(x) f(x)
]

A2

2!

A3

3!

1
2

A = [
x x

x x
], 0 < x < 1

− cosec− 1(ex) + c
1

2√ex − 1

− sec− 1(ex) + c
2

√ex − e−x

+ sec− 1(ex) + c
1

2√e2x − 1

https://dl.doubtnut.com/l/_EtDXUs7mbCwg
https://dl.doubtnut.com/l/_739vq76FCwcI


D. none of these

Answer: C

Watch Video Solution

7. Euler's substitution: 

Integrals of the form  are claculated with the

aid of one of the following three Euler substitutions: 

i.  


ii.  


iii. 

i.e., if  is real root of  


can be evaluated by substituting for x as

A. 

B. 

C. 

∫R(x, √ax2 + bx + c)dx

√ax2 + bx + c = t ± x√a if a > 0

√ax2 + bx + c = tx ± x√c if c > 0

√ax2 + bx + c = (x − a)t if ax2 + bx + c = a(x − a)(x − b)

α ax2 + bx + c = 0

xdx

√7x − 10 − x23

loge|t + 1|

loge|t + 2|

1

t + 2

https://dl.doubtnut.com/l/_739vq76FCwcI
https://dl.doubtnut.com/l/_3oVC5wkPUjve


D. none of these

Answer: D

Watch Video Solution

8. Euler's substitution: 

Integrals of the form  are claculated with the

aid of one of the following three Euler substitutions: 

i.  


ii.  


iii. 

i.e., if  is real root of  


can be evaluated by substituting for x as

A. x=( 5+ 2 t^2 )/(t^2 +1)

B. x=( 5 - t^2 )/(t^2 +2)

C. x=(2 t^2 - 5 )/(3t^2 -1)

∫R(x, √ax2 + bx + c)dx

√ax2 + bx + c = t ± x√a if a > 0

√ax2 + bx + c = tx ± x√c if c > 0

√ax2 + bx + c = (x − a)t if ax2 + bx + c = a(x − a)(x − b)

α ax2 + bx + c = 0

xdx

√7x − 10 − x23

https://dl.doubtnut.com/l/_3oVC5wkPUjve
https://dl.doubtnut.com/l/_IOUvQss4rPbA


D. none of these

Answer: B

Watch Video Solution

9. Euler's substitution: 

Integrals of the form  are claculated with the

aid of one of the following three Euler substitutions: 

i.  


ii.  


iii. 

i.e., if  is real root of  


can be evaluated by substituting for x as

A. 

B. 

C. 

∫R(x, √ax2 + bx + c)dx

√ax2 + bx + c = t ± x√a if a > 0

√ax2 + bx + c = tx ± x√c if c > 0

√ax2 + bx + c = (x − a)t if ax2 + bx + c = a(x − a)(x − b)

α ax2 + bx + c = 0

xdx

√7x − 10 − x23

x =
5 + 2t2

t2 + 1

x =
5 − t2

t2 + 2

x =
2t2 − 5

3t2 − 1

https://dl.doubtnut.com/l/_IOUvQss4rPbA
https://dl.doubtnut.com/l/_NfnbjIrjfW4H


D. none of these

Answer: A

Watch Video Solution

10. Let 
 Then value of 


 will be
 (a) 
 (b) 
 (c) 


(d)none of these

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

f(x) = ∫ andf(0) = 0.
x2dx

(1 + x2)(1 + √x2 + 1)

f(1) (tan ) + C
7
11

θ

2

11
7

( ) + C
7
11

cos θ
2

11
7

( ) + C
7
11

sin θ

2

11
7

log(1 + √2)

log(1 + √2) −
π

4

log(1 + √2) +
π

4

https://dl.doubtnut.com/l/_NfnbjIrjfW4H
https://dl.doubtnut.com/l/_7HE742tiSvOT


11. Let 
 Then value of 


 will be
 (a) 
 (b) 
 (c) 


(d)none of these

A. an increasing function

B. a decreasing function

C. a non-monotonic function

D. can't say anything

Answer: A

Watch Video Solution

f(x) = ∫ andf(0) = 0.
x2dx

(1 + x2)(1 + √x2 + 1)

f(1) (tan ) + C
7
11

θ

2

11
7

( ) + C
7
11

cos θ
2

11
7

( ) + C
7
11

sin θ

2

11
7

12. If  

 then 


The value of  is

∫ dx
x(x − 1)

(x2 + 1)(x + 1)√x3 + x2 + x

= loge
∣
∣

∣
∣

∣
∣

∣
∣

− tan− 1 √f(x) + C,
1
2

√f(x) − 1

√f(x) + 1

f(1)

https://dl.doubtnut.com/l/_9l6hEZzDgupU
https://dl.doubtnut.com/l/_ZBD7O6spPxgr


A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

13. If  

 then 


The value of  is

A. 

B. 

C. 

D. 

∫ dx
x(x − 1)

(x2 + 1)(x + 1)√x3 + x2 + x

= loge
∣
∣

∣
∣

∣
∣

∣
∣

− tan− 1 √f(x) + C,
1

2

√f(x) − 1

√f(x) + 1

lim
x→ ∞

tan− 1 √f(x)

π/2

π/4

π

2π

https://dl.doubtnut.com/l/_ZBD7O6spPxgr
https://dl.doubtnut.com/l/_gpBUoDTkT098


Answer: A

Watch Video Solution

14. If a function satisfies the relation

then 

The value of  is

A. 

B. 

C. 

D. e

Answer: B

Watch Video Solution

f(x)f' ' (x) − f(x)f' (x) = (f' (x))2 ∀x ∈ R and f(0) = f' (0) = 1,

lim
x→ − ∞

f(x)

1

√e

1

e

√e

https://dl.doubtnut.com/l/_gpBUoDTkT098
https://dl.doubtnut.com/l/_aAR5VpAuaNIn


15. If a function satisfies the relation

then 

Number of roots of the equation  is

A. 0

B. 1

C. 2

D. infinite

Answer: B

Watch Video Solution

f(x)f' ' (x) − f(x)f' (x) = (f' (x))2 ∀x ∈ R and f(0) = f' (0) = 1,

f(x) = ex

16. Consider two differentiable functions  satisfying f(x), g(x)

6∫f(x)g(x)dx = x6 + 3x4 + 3x2 + c and 2∫ = x2 + c,  where f
g(x)dx

f(x)

lim
x→ 0

=
log(f(x))

g(x)

https://dl.doubtnut.com/l/_5f8Re2YFotii
https://dl.doubtnut.com/l/_urE5ZTAbcFKV


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

− + x + c
x4

4
x2

2

+ − + x + c
x4

4
x2

2
x3

3

− + − x + c
x4

4
x3

3
x2

2

+ + c
x4

4
x3

3

17. Consider two differentiable functions  satisfying 

A. e

B. 2

C. 1

D. 0

f(x), g(x)

6∫f(x)g(x)dx = x6 + 3x4 + 3x2 + c and 2∫ = x2 + c,  where f
g(x)dx

f(x)

lim
x→ 0

=
log(f(x))

g(x)

https://dl.doubtnut.com/l/_urE5ZTAbcFKV
https://dl.doubtnut.com/l/_hKhjpgZaAwEZ


EXERCISES (Matrix Match Type)

Answer: D

Watch Video Solution

1. Match the following lists: 

 


https://dl.doubtnut.com/l/_hKhjpgZaAwEZ
https://dl.doubtnut.com/l/_5awkUguKCpW0


View Text Solution

2. Match the following lists: 

Watch Video Solution

https://dl.doubtnut.com/l/_5awkUguKCpW0
https://dl.doubtnut.com/l/_kh3gFQpkQvuM


3. Match the following lists: 

View Text Solution

https://dl.doubtnut.com/l/_kh3gFQpkQvuM
https://dl.doubtnut.com/l/_be3kL9Hcgjzf
https://dl.doubtnut.com/l/_L01625AZDd3i


4. Consider 

 


 


Now, match the following lists and then choose the correct code. 

 


Codes: 

Watch Video Solution

∫ dx
x3 + 3x2 + 2x + 1

√x2 + x + 1

= (ax2 + bx + c)√x2 + x + 1 + λ∫
dx

√x2 + x + 1

a b c d

(1) q p s r

(2) s p q r

(3) r q p s

(4) q s p r

https://dl.doubtnut.com/l/_L01625AZDd3i


EXERCISES (Numerical Value Type)

1. Let 
 Then

the value of 
is____

Watch Video Solution

f(x) = ∫xsin x(1 + x cos x
.

lnx + sinx)dxandf( ) = .
π

2

π2

4

|cos(f(π))|

2. Let 
 then the value of 

is __________

Watch Video Solution

g(x) = ∫ dxandg(0) = 0.
1 + 2 cos x

(cos x + 2)2
8g( )

π

2

3. Let 
 . Then the value of 


is____

Watch Video Solution

k(x) = ∫ andk( − 1) =
(x2 + 1)dx

√x3 + 3x + 6

1

33

k( − 2)

https://dl.doubtnut.com/l/_OH6FPCoqr1Nh
https://dl.doubtnut.com/l/_7i7BIEVmhHa0
https://dl.doubtnut.com/l/_NDTODRzzTX81


4. If the value ,then

find k.

Watch Video Solution

∫ dx = ln∣∣sink x + cosk x∣∣ + c
1 − (cot x)

2008

tanx + (cot x)
2009

1

k

5. If 
then the value of 
is___

Watch Video Solution

f(x) = ∫ dx and f(0) = 0,
3x2 + 1

(x2 − 1)
3

∣
∣
∣

∣
∣
∣

2

f(2)

6. If , , and

, then  is equal

to

Watch Video Solution

f(x) = √x g(x) = ex − 1

∫fog(x)dx = Afog(x) + B tan− 1(fog(x)) + C A + B

7. If 
then

the value of 
is______

∫ dx = A ln|cos x + sinx − 2| + Bx + C,
2 cos x − sinx + λ

cos x + sinx − 2

A + B + |λ|

https://dl.doubtnut.com/l/_2e9n6JNgNxOQ
https://dl.doubtnut.com/l/_nogHbtTIYFWU
https://dl.doubtnut.com/l/_1vIY3lJDOU81
https://dl.doubtnut.com/l/_7Qz1ODzmo8fA


Watch Video Solution

8. 

Watch Video Solution

If ∫ex
3 +x2 − 1(3x4 + 2x3 + 2x)dx = f(x) + C,  then the value of f(1) ×

9.  

Watch Video Solution

If f(x) = ∫  and f(0) = 12 loge 2,
dx

x1 / 3 + 2

 then the value of f( − 1)  is − .

10. 

Watch Video Solution

If I = ∫ = − A(tanx) − + B(tanx) − + c,  then find t
dx

3√sin11
x cos x

8
3

2
3

https://dl.doubtnut.com/l/_7Qz1ODzmo8fA
https://dl.doubtnut.com/l/_la0L4tZVYdzs
https://dl.doubtnut.com/l/_7frwqeZGRcv8
https://dl.doubtnut.com/l/_zPLEXFhYO76w


Archives JEE MAIN (Single Correct Answer Type)

1. If the integral , then a is

equal to

A. -1

B. -2

C. 1

D. 2

Answer: D

Watch Video Solution

∫ dx = x + aIn|sinx − 2 cos x| + k
5 tanx

tanx − 2

2. If , then 

A. 

B. 

∫f(x)dx = ψ(x) ∫x5f(x3)dx

[x3Ψ(x3) − ∫x2Ψ(x3)dx] + c
1

3

x3Ψ(x3) − 3∫x3Ψ(x3)dx + c
1

3

https://dl.doubtnut.com/l/_qQd96wIqE1ik
https://dl.doubtnut.com/l/_ibE1zm3sMl7k


C. 

D. 

Answer: C

Watch Video Solution

x3Ψ(x3) − ∫x2Ψ(x3)dx + c
1

3

[x3Ψ(x3) − ∫x3Ψ(x3)dx] + c
1

3

3. The integral  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫(1 + x − )ex+ dx
1

x

1
x

(x − 1)ex+ + c
1
x

xex+ + c
1
x

(x + 1)ex+ + c
1
x

−xex+ + c
1
x

https://dl.doubtnut.com/l/_ibE1zm3sMl7k
https://dl.doubtnut.com/l/_2XeTHriSZXCb


4. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

The integral ∫  equals
dx

x2(x2 + 1)
1
2

( )
1 / 2

+ c
x2 + 1

x2

(x2 + 1) + c
1
2

−(x2 + 1) + c
1
2

−( ) + c
x2 + 1

x2

1
2

5. The integral  is equal to-

A. 

B. 

C. 

D. 

∫ . dx
2x12 + 5x9

[x5 + x3 + 1]
3

+ C
x10

2(x5 + x3 + 1)2

+ C
x5

2(x5 + x3 + 1)2

−x10

2(x5 + x3 + 1)2

+ C
−x5

(x5 + x3 + 1)
2

https://dl.doubtnut.com/l/_cEmmsshhvtJF
https://dl.doubtnut.com/l/_r7ckHZWZ7YvP


Answer: A

Watch Video Solution

6. Let . If
 , Where 

 is a constant of integration, then the ordered pair  is equal to :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

In = ∫tann xdx, (n > 1) I4 + I6 = a tan5 x + bx5 + C

C (a, b)

( − , 0)
1

5

( − , 1)
1

5

( , 0)
1

5

( , − 1)
1

5

7. Evaluate:∫    dx
sin2 x cos2 x

(sin5 x + cos3 x sin2 x + sin3 x cos2 x + cos5 x)
2

https://dl.doubtnut.com/l/_r7ckHZWZ7YvP
https://dl.doubtnut.com/l/_YfqllvmMLl6X
https://dl.doubtnut.com/l/_3Y6mc1XdIfDD


Archives JEE ADVANCED (Single Correct Answer Type)

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+ C
−1

1 + cot3 x

+ C
1

3(1 + tan3 x)

+ C
−1

3(1 + tan3 x)

+ C
1

1 + cot3 x

1. The integral 
equals (for some arbitrary constant 




∫ dx
sec2 x

(secx + tanx)
9
2

K). (a) − { − (secx + tanx)2} + K
1

(secx + tanx)
11
2

1

11

1

7

(b) { − (secx + tanx)2} + K
1

(secx + tanx)
1
11

1

11

1

7

(c) − { + (secx + tanx)
2} + K

1

(secx + tanx)
11
2

1

11

1

7

(d) { + (secx + tanx)2} + K
1

(secx + tanx)
11
2

1

11

1

7

https://dl.doubtnut.com/l/_3Y6mc1XdIfDD
https://dl.doubtnut.com/l/_SsRczhQiUuY3


Single Correct Answer Type

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

− { − (secx + tanx)2} + K
1

(secx + tanx)11 / 2

1

11

1

7

{ − (secx + tanx)2} + K
1

(secx + tanx)1 / 11

1

11

1

7

− { + (secx + tanx)2} + K
1

(secx + tanx)
11 / 2

1

11

1

7

{ + (secx + tanx)
2} + K

1

(secx + tanx)
11 / 2

1
11

1

7

1. Evaluate: 

A. 

B. 

C. 

D. 

∫  dx
cos 5x + cos 4x

1 − 2 cos 3x

−( + cos x) + C
sin 2x

2

−( + cos x) + C
sin 2x

2

−( + cos x) + C
cos 2x

2

−( + sinx) + C
sin 2x

2

https://dl.doubtnut.com/l/_SsRczhQiUuY3
https://dl.doubtnut.com/l/_RscB4RYi3T30


Answer: D

Watch Video Solution

2.  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ dx
secx. cosecx

2 cot x − secxcosec x

ln|sec 2x + tan 2x| + C
1

2

ln|secx + cosec x| + C

ln|secx + tanx| + C

ln|secx +  cosec x| + C
1

2

3. Evaluate: 

A. 

∫ ln( )dx =
1

x

x

ex

ex − lnx + C
1

2

https://dl.doubtnut.com/l/_RscB4RYi3T30
https://dl.doubtnut.com/l/_y63zpJxvrYq6
https://dl.doubtnut.com/l/_vqK3U49ByZmk


B. 

C. 

D. 

Answer: C

Watch Video Solution

lnx − ex + C
1

2

(lnx)2 − x + C
1

2

+ C
ex

2x

4. Evaluate  

(A) 


(B) 


(C)  


(D) 

A. 

B. 

C. 

D. 

∫ dx =
(cos x)

n− 1

(sinx)
n+ 1

− + c
cotn x
n

− + c
cotn x
n + 1

+ c
cotn x
n

+ c
cotn x
n + 1

cotn x
n

−cotn− 1 x

n − 1

−cotn x
n

cotn− 1 x

n − 1

https://dl.doubtnut.com/l/_vqK3U49ByZmk
https://dl.doubtnut.com/l/_Jqf7JH92LHtb


Answer: C

Watch Video Solution

5. If  where C is a

constant of integration, then the value of k is equal to

A. 3

B. 6

C. 9

D. 12

Answer: C

Watch Video Solution

∫x26. (x − 1)
17

. (5x − 3)dx = + C
x27. (x − 1)

18

k

https://dl.doubtnut.com/l/_Jqf7JH92LHtb
https://dl.doubtnut.com/l/_QrxNXHEhyZcq


6. If  then

A+B is

A. 

B. 

C. 

D. 0

Answer: A

Watch Video Solution

∫ dx = A√1 − 9x2 + B(cos − 1 3x)
3

+ C,
x + (cos − 1 3x)

2

√1 − 9x2

−
2

9

−
1

9

1

9

7. If  where f(x) is a polynomial of

degree n in tan x, then the value of n is

A. 6

B. 7

∫(tan9 x)dx = f(x) + log|cos x|,

https://dl.doubtnut.com/l/_hK552v1K0bc6
https://dl.doubtnut.com/l/_9FIDXuDeDEod


C. 8

D. none of these

Answer: C

Watch Video Solution

8.  where C is the

constant of integration and f(x) is positive. Then  has the

value equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx = loge(f(x)) + g(x) + C
cos x − sinx + 1 − x

ex + sinx + x

f(x) + g(x)

ex + sinx + 2x

ex + sinx

ex − sinx

ex + sinx + x

https://dl.doubtnut.com/l/_9FIDXuDeDEod
https://dl.doubtnut.com/l/_DRIUUvHCILzG


9. Evaluate:  equals

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx
x + x + x

2
3

1
6

x(1 + x )
1
3

+ 6 tan− 1(x ) + C
3x

2
3

4

1
6

+ 6 tan− 1(x ) + C
3x

2
3

2

1
6

+ 6 tan− 1(x ) + C
3x

2
3

10

1
6

+ 6 tan− 1(x ) + C
3x

2
3

5

1
6

10.  is equal to

A. 

B. 

C. 

∫ dx ∀x > 0
ex(x − 2)

x(x2 + ex)

ln(1 + ) + c
ex

x2

ln( − + ) + c
1

2
ex

x2

ln(2 + ) + c
ex

x2

https://dl.doubtnut.com/l/_DRIUUvHCILzG
https://dl.doubtnut.com/l/_QTPWWTSGSvVH
https://dl.doubtnut.com/l/_W3hy8PPU4dTz


D. 

Answer: A

Watch Video Solution

ln(x + ) + c
ex

x2

11. If . Then, the value of 

 is equal to:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 ≠ nπ − 1, n ∈ N

∫x√ dx
2 sin(x2 + 1) − sin 2(x2 + 1)

2 sin(x2 + 1) + sin 2(x2 + 1)

ln
∣
∣
∣

sec(x2 + 1)
∣
∣
∣

+ C
1

2

ln
∣
∣
∣
sec( )

∣
∣
∣

+ C
x2 + 1

2

ln∣∣sec(x2 + 1)∣∣ + C
1

2

ln
∣
∣
∣

∣
∣
∣

+ C
1

2

2

sec(x2 + 1)

https://dl.doubtnut.com/l/_W3hy8PPU4dTz
https://dl.doubtnut.com/l/_tI2xGmxCxWx4


12. The value of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ dx
cosec x

cos2(1 + log tan. )x
2

−tan(1 + log tan. ) + c
x

2

sec2(1 + log tan. ) + c
x

2

tan(1 + log tan. ) + c
x

2

sin2(1 + log tan. ) + c
x

2

13. Evaluate: 

A. 

B. 

C. 

D. none of these

∫ =
dx

x√x6 − 16

sec− 1( ) + c
x3

4

sec− 1( ) + c
1

12
x3

4

sec− 1( ) + c
1

3
x3

4

https://dl.doubtnut.com/l/_ylx5A3fNZBFo
https://dl.doubtnut.com/l/_nh1zvdodXYzg


Answer: B

Watch Video Solution

14.  is equal to

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫
dx

cos(2x)cos(4x)

log
∣
∣
∣

∣
∣
∣

− (log|sec 2x − tan 2x|) + C
1

2√2

1 + √2 sin 2x

1 − √2 sin 2x

1

2

log
∣
∣
∣

∣
∣
∣

− (log|sec 2x − tan 2x|) + C
1

2√2

1 − √2 sin 2x

1 + √2 sin 2x

1

2

log
∣
∣
∣

∣
∣
∣

− (log|sec 2x − tan 2x|) + C
1

√2

1 + √2 sin 2x

1 − √2 sin 2x

1

2

15.  is equal to

A. 

∫x2ln (x2 + 1 )dx

+ C
2ln (x2 + 1 )

2(x2 + 1)

https://dl.doubtnut.com/l/_nh1zvdodXYzg
https://dl.doubtnut.com/l/_T3pZeQvWMqJ3
https://dl.doubtnut.com/l/_mXECQrE8zYw1


B. 

C. 

D. 

Answer: C

Watch Video Solution

(x2 + 1)
2ln (x2 + 1 )

ln 2 + 1

+ C
(x2 + 1)

ln 2 + 1

2(ln 2 + 1)

+ C
(x2 + 1)

ln 2

2(ln 2 + 1)

16. If  then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫ dx = Af(x) + log[|sinx − cos x|] + c,
sinx

sin(x − )π
4

1

√2

A = , f(x) = sinx
1

√2

A = √2, f(x) = cos x

A = √2, f(x) = x

A = , f(x) = x
1

√2

https://dl.doubtnut.com/l/_mXECQrE8zYw1
https://dl.doubtnut.com/l/_1a61PYCycwR7


17. Evaluate:  equals

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫(√ − √ sinx)dx
cos x
x

x

cos x

−√x cos x + C

√x sinx + C

2√x cos x + C

C − 2√x cos x

18. Evaluate: 

A. 

B. 

C. 

∫ dx
(2x + 1)

(x2 + 4x + 1)
3 / 2

+ C
x3

(x2 + 4x + 1)
1 / 2

+ C
x

(x2 + 4x + 1)1 / 2

+ C
x2

(x2 + 4x + 1)1 / 2

https://dl.doubtnut.com/l/_DBaslwBfOnDU
https://dl.doubtnut.com/l/_TpVFGcQJuaAF


D. 

Answer: B

Watch Video Solution

+ C
1

(x2 + 4x + 1)1 / 2

19. If  where f(x) is of the

form of , then the value of f(1) is

A. 4

B. 5

C. 6

D. none

Answer: B

Watch Video Solution

∫ = C −
(2x + 3)dx

x(x + 1)(x + 2)(x + 3) + 1

1

f(x)

ax2 + bx + c

https://dl.doubtnut.com/l/_TpVFGcQJuaAF
https://dl.doubtnut.com/l/_dsb82kCggOmq


20. The integral  equals

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫√cot xe√sin x
√cos xdx

+ C
√tanxe√sin x

√cos x

2e√sin x + C

− e√sin x + C
1

2

+ C
√cot xe√sin x

2√cos x

21. Evaluate :  equals

A. 

B. 

C. 

D. 

∫
dx

x√x6 + 1

sec− 1 x3 + C

log( ) + C
1

6

√x6 + 1 − 1

√x6 + 1 + 1

log( ) + C
1

3

√x3 + 1 − 1

√x3 + 1 + 1

log( ) + C
1

3

√x3 + 1 + 1

√x3 + 1 − 1

https://dl.doubtnut.com/l/_Apm6k622wCKX
https://dl.doubtnut.com/l/_jgyJd33pBd1O


Answer: B

Watch Video Solution

22.  where 

 is

A. 1

B. 2

C. 

D. 

Answer: A

Watch Video Solution

∫ = 2
⎡

⎣
−

⎤

⎦
+ c

dx

(1 + √x)
2010

1

α(1 + √x)
α

1

(β(1 + √x))
β

α, β > 0  then α − β

−1

−2

https://dl.doubtnut.com/l/_jgyJd33pBd1O
https://dl.doubtnut.com/l/_Ywor1zhk66Id


23. , where A, B are contants.

Then the range of Af(x) is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ = A tan− 1(f(x)) + B
sin( − x)dxπ

4

2 + sin 2x

[ − 1, 1]

[ − √2, √2]

[0, 1]

[ − 1, 0]

24. If

then the value of 3AB is

A. 

∫√x + √x2 + 2dx = A{x + √x2 + 2}
3 / 2

+ + c.
B

√x + √x2 + 2

−1

https://dl.doubtnut.com/l/_tDAm5U7w7aTm
https://dl.doubtnut.com/l/_PCdeDH6HIy6t


B. 

C. 1

D. 2

Answer: B

Watch Video Solution

−2

25.  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ dx
x2 + 1

x√x2 + 2x − 1√1 − x2 − x

2 sin− 1 √x − + 2 + c
1

x

2 cos − 1 √x − + 2 + c
1

x

sin− 1 √x − + 2 + c
1

x

cos − 1 √x − + 2 + c
1

x

https://dl.doubtnut.com/l/_PCdeDH6HIy6t
https://dl.doubtnut.com/l/_90fZAXlEKf64
https://dl.doubtnut.com/l/_QvJkjIt8x8CY


26.  has the value equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
dx

x2√16 − x2

C − tan− 1 sec( )
1

4
x

4

tan− 1 sec( ) + C
1

4
x

4

C −
√16 − x2

16x

+ C
√16 − x2

16x

27. Evaluate .

A. 2

B. 3

C. 6

D. 8

∫ dx

tan( − x)π

4

cos2 x√tan3 x + tan2 x + tanx

https://dl.doubtnut.com/l/_QvJkjIt8x8CY
https://dl.doubtnut.com/l/_wdtBNTMXETKD


Answer: C

Watch Video Solution

28.  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ dx
√1 − x2 − x

√1 − x2(1 + x√1 − x2)

2 tan− 1(x + √1 − x2) + c

tan− 1(x + √1 − x2) + c

2 tan− 1(x − √1 − x2) + c

2 cot − 1(x + √1 − x2) + c

29. 

A. 

∫ dx =
3x2 + 2x

x6 + 2x5 + x4 + 2x3 + 2x2 + 5

tan− 1( ) + c
1

4
x3 + x2 + 1

2

https://dl.doubtnut.com/l/_wdtBNTMXETKD
https://dl.doubtnut.com/l/_UKHqIb2HBGwR
https://dl.doubtnut.com/l/_Ns38OMIP8b7I


B. 

C. 

D. 

Answer: B

Watch Video Solution

tan− 1( ) + c
1

2
x3 + x2 + 1

2

sin− 1( ) + c
x3 + x2 + 1

2

tan− 1( ) + c
1

2
x3 + x2

2

30.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
dx

(1 + √x)√(x − x2)

2
⎛

⎝
√ −

⎞

⎠
+ c

x

√1 − x

1

√1 − x

2
⎛

⎝
√ −

⎞

⎠
+ c

x

√1 − x

1

1 − x

2(√ − ) + c
x

1 − x

1

√1 − x

2(√ − ) + c
x

1 − x

1

1 − x

https://dl.doubtnut.com/l/_Ns38OMIP8b7I
https://dl.doubtnut.com/l/_O0GJPj4spC0n


31. If , and f(0) = 0, then the value

of f(1) is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

f(x) = ∫ dx, (x ≥ 0)
5x8 + 7x6

(x2 + 1 + 2x7)2

−1/2

1/4

1/2

−1/4

32. If , then I equals

A. 

B. 

C. 

I = ∫
dx

x4√a2 + x2

[ √a2 + x2 − √a2 + x2] + c
1

a4

1

x

1

3x2

[ √a2 + x2 − (a2 + x2)
3 / 2

] + c
1

a4

1

x

1

2√x

[ √a2 + x2 − (a2 + x2)
3 / 2

] + c
1

a4

1

x

1

3x3

https://dl.doubtnut.com/l/_O0GJPj4spC0n
https://dl.doubtnut.com/l/_qJwQxeQo4jBz
https://dl.doubtnut.com/l/_dBxy14P4FtcE


D. 

Answer: C

View Text Solution

[ √a2 + x2 − √a2 + x2] + c
1

a4

1

x

1

3x3

33. If , then f(x) is

equal to

A. 

B. 

C. 

D. None

Answer: B

View Text Solution

I = ∫x27(6x2 + 5x + 4)(x2 + x + 1)
6
dx = f(x) + C

+ C
x4(1 + x + x2)

7

7

+ C
x28(1 + x + x2)

7

7

+ C
x28(1 + x + x2)

7

28

https://dl.doubtnut.com/l/_dBxy14P4FtcE
https://dl.doubtnut.com/l/_80S63o3c8q9M


34.  equals

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

∫ dx
x2(1 − logx)

(logx)
4

− x4

ln. − ln(ln2
x − x2) + C

1
2

x

lnx

1

4

ln( ) − tan− 1( ) + C
1

4

lnx − x

lnx + x

1
2

lnx

x

ln( ) + tan− 1( ) + C
1

4

lnx − x

lnx + x

1
2

lnx

x

(ln( ) + tan− 1( )) + C
1

4

lnx − x

lnx + x

lnx

x

35. 

Then the value of A is equal to

A. 

B. 

∫ = log

∣
∣

∣

∣
∣

∣
∣

∣

∣
∣

− A + c.
x(x − 1)

(x2 + 1)(x + 1)√x3 + x2 + x

1

2

√x + + 1 − 11
x

√x + + 1 + 11
x

cos − 1 √1 +
1

x

tan− 1 √x + + 1
1

x

https://dl.doubtnut.com/l/_bV7r11NMLVUy
https://dl.doubtnut.com/l/_PVmh362CoBN2


C. 

D. 

Answer: B

View Text Solution

cot − 1 √x +
1

x

sin− 1 √x + + 1
1

x

36.  equals

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

∫
d(x3)

x3(xn + 1)

ln( )
3

n

xn

xn + 1

ln( )
1

n

xn

xn + 1

ln( )
3

n

xn + 1
xn

3n ln( )
xn+ 1

xn

https://dl.doubtnut.com/l/_PVmh362CoBN2
https://dl.doubtnut.com/l/_joW4VQc0UTsf


37.  is equal to

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

∫
(x + 1)

2
dx

x(x2 + 1)

loge x + c

loge x + 2 tan− 1 x + c

loge. + c
1

x2 + 1

loge{x(x
2 + 1)} + c

38.  is equal to

A. 

B. 

C. 

D. 

∫ dx
x3 − x

1 + x6

log. + C
1

6
x4 − x2 + 1

x(x2 + 1)

tan− 1. + C
1

6

(x2 + 1)
2

2

log. + C
x4 − x2 + 1

(1 + x2)2

tan− 1. + C
(x2 + 1)

2

2

https://dl.doubtnut.com/l/_LJObeGzLdrTF
https://dl.doubtnut.com/l/_Dcg9q7kkxPlM


Answer: A

View Text Solution

39.  is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

∫ dx
x3 − 1

(x4 + 1)(x + 1)

ln(1 + x4) + ln(1 + x3) + c
1

4

1

3

sinx ∣ − sinx + C

ln(1 + x4) − ln(1 + x) + c
1

4

ln(1 + x4) + ln(1 + x) + c
1

4

40. The value of  is equal to

A. 

∫ dx
cos3 x

sin2 x + sinx

loge|sinx| + sinx + C

https://dl.doubtnut.com/l/_Dcg9q7kkxPlM
https://dl.doubtnut.com/l/_2puSVxcfHL7m
https://dl.doubtnut.com/l/_b8weLg7xeCHQ


B. 

C. 

D. 

Answer: B

View Text Solution

loge|sinx| − sinx + C

−loge|sinx| − sinx + C

−loge|sinx| + sinx + C

41.  dx is equal to:

A. 

B. 

C. 

D. none of these

Answer: B

View Text Solution

∫
x3 − 1

x3 + x

x − loge|x| + loge(x
2 + 1) − tan− 1 x + C

x − loge|x| + loge(x
2 + 1) − tan− 1 x + C

1

2

x + loge|x| + loge(x
2 + 1) + tan− 1 x + C

1

2

https://dl.doubtnut.com/l/_b8weLg7xeCHQ
https://dl.doubtnut.com/l/_TxOe6pDjtjGr
https://dl.doubtnut.com/l/_kvAH1w7exEVR


42. 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

∫ dx =
(2 + secx)secx

(1 + 2 secx)
2

+ C
1

2 cosec x+cot x

2 cosec x+cot x + C

+ C
1

2 cosec x−cot x

2 cosec x−cot x + C

43. If  is differentiable, then 

 equal to

A. 

B. 

C. 

∫f(x)dx = g(x) + c and f − 1(x)

∫f − 1(x)dx

g− 1(x) + C

xf − 1 + C

xf − 1(x) − g(f − 1(x)) + C

https://dl.doubtnut.com/l/_kvAH1w7exEVR
https://dl.doubtnut.com/l/_CfR6hXQNT8Sb


D. 

Answer: C

View Text Solution

f − 1(x) + C

44. 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

∫ (2 ln cosec x + sin 2x)dx
ecot x

sin2 x

2ecot x ln|sinx| + c

2etan x ln|sinx| + c

2ecot x ln|cos x| + c

2etan x ln|cos x| + c

45. , then f(x) is equal to∫ dx = + C
1 − 7 cos2 x

sin7 x cos2 x

f(x)

(sinx)7

https://dl.doubtnut.com/l/_CfR6hXQNT8Sb
https://dl.doubtnut.com/l/_WybjPgx8K0Dt
https://dl.doubtnut.com/l/_AIFujMY0BSe4


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

sinx

cos x

tanx

cot x

46. If  then the value

of f(1) is

A. 

B. 

C. 

D. 

Answer: A

f(x) = ∫ex(tan− 1 x + )dx, f(0) = 0
2x

(1 + x2)2

e( − ) + 1
π

4

1

2

e( + ) + 1
π

4

1

2

e( − ) + 1
π

2

1

4

e− 1( − ) + 1
π

4

1

2

https://dl.doubtnut.com/l/_AIFujMY0BSe4
https://dl.doubtnut.com/l/_g4RfUG2vKawh


View Text Solution

47.  is equal to

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

∫ dx
ex(x − 1)(x − lnx)

x2

ex( ) + c
x − lnx

x

ex( ) + c
x − lnx + 1

x

ex( ) + c
x − lnx

x2

ex( ) + c
x − lnx − 1

x

48.  equals

A. 

B. 

∫(sin(101x). sin99 x)dx

+ C
sin(100x)(sinx)

100

100

+ C
cos(100x)(sinx)100

100

https://dl.doubtnut.com/l/_g4RfUG2vKawh
https://dl.doubtnut.com/l/_140RCMlAKNgU
https://dl.doubtnut.com/l/_25Q4YxWIr7jk


Subjective Type

C. 

D. 

Answer: A

View Text Solution

+ C
cos(100x)(cos x)

100

100

+ C
cos(100x)(cos x)100

100

1. Evaluate: 

View Text Solution

∫  dx
(x − 1)

2

x4 + x2 + 1

2. Evaluate : 

View Text Solution

∫ dx
x2 − 4

x4 + 9x2 + 16

https://dl.doubtnut.com/l/_25Q4YxWIr7jk
https://dl.doubtnut.com/l/_4fK9jH5fojva
https://dl.doubtnut.com/l/_j5l08PmrtgPW


Comprehension Type

3. Evaluate: 

View Text Solution

∫cos 2x  ln (1 + tanx)dx

4. Evaluate : 

View Text Solution

∫sin 4x. etan2 xdx

5. Evaluate : 

View Text Solution

∫ dx
loge(1 + sin2

x)

cos2 x

6. Evaluate : 

View Text Solution

∫ dx
x loge x

(x2 − 1)
3 / 2

https://dl.doubtnut.com/l/_qWLCieqhJih2
https://dl.doubtnut.com/l/_3ncdQPNkJToH
https://dl.doubtnut.com/l/_aLJbVnDPaSW4
https://dl.doubtnut.com/l/_Rs9I7ukyIc5p


1. Let  


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

f(x) = ∫ , g(x) = ∫ .
dx

ex + 8e−x + 4e− 3x

dx

e3x + 8ex + 4e−x

∫(f(x) − 2g(x))dx

log
∣
∣
∣

∣
∣
∣

+ C
1
2

ex + 2e−x − 2
ex + 2e−x + 2

log
∣
∣
∣

∣
∣
∣

+ C
1

4√3

ex − 2e−x − 2√3

ex + 2e−x + 2√3

tan− 1( ) + C
1

2√3

ex − 2e−x

2√3

tan− 1( ) + C
1

2
ex + 2e−x

2

2. Let  


A. 

B. 

C. 

f(x) = ∫ , g(x) = ∫ .
dx

ex + 8e−x + 4e− 3x

dx

e3x + 8ex + 4e−x

∫(f(x) − 2g(x))dx

log
∣
∣
∣

∣
∣
∣

+ C
1

4√3

ex − 2e−x − 2√3

ex + 2e−x + 2√3

tan− 1( ) + C
1

2
ex + 2e−x

2

tan− 1( ) + C
1

2√3

ex − 2e−x

2√3

https://dl.doubtnut.com/l/_m5COVG9vZIEB
https://dl.doubtnut.com/l/_gclTt4K3KWLW


Multiple Correct Answer Type

D. 

Answer: B

View Text Solution

log
∣
∣
∣

∣
∣
∣

+ C
1

4
ex + 2e−x − 2

ex + 2e−x + 2

1. If 

then

A. (a) 

B. (b) 

C. (c) 

D. (d) 

Answer: B::C

View Text Solution

∫ log( )dx = log t − − logu + + C,
e4x − 1

e2x

e2x + 1

e2x − 1

t2

2

t2

4

u2

2

u2

4

u = ex + e−x

u = ex − e−x

t = ex + e−x

t = ex − e−x

https://dl.doubtnut.com/l/_gclTt4K3KWLW
https://dl.doubtnut.com/l/_NeVdPfEhkIzn


2. If , then

A. 

B. 

C. 

D. 

Answer: B::D

Watch Video Solution

∫ dx = f(x)√1 + ex − 2 logg(x) + C
xex

√1 + ex

f(x) = x − 1

g(x) =
√1 + ex − 1

√1 + ex + 1

g(x) =
√1 + ex + 1

√1 + ex − 1

f(x) = 2(x − 2)

https://dl.doubtnut.com/l/_NeVdPfEhkIzn
https://dl.doubtnut.com/l/_cnqeIZY35px9

